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Read the following instructions carefully before you begin to answer the questions.

Important Instructions 

	 1.	 This Question Booklet contains questions of Language (Qualifying), General Studies and Social Science 
which includes History, Geography, Economics and Political Science subject. Choose the questions 
from any two subjects out of four subjects of Social Science. At least one subject History OR Geography 
is mandatory.

	 2.	 Part – I, Language (Qualifying) consists of Question Nos. 1 to 30. In Part – I, English Language consists 
of Question Nos. E-1 to E-8 (common for all), Hindi Language consists of Question Nos. H-9 to H-30, 
Urdu Language consists of Question Nos. U-9 to U-30 and Bengali Language consists of Question Nos. 
B-9 to B-30 (Students are required to choose the questions from any one language out of three languages). 
Part – II consists of Question Nos. 31 to 70 and Part – III, History consists of Question Nos. H-1 to H-40, 
Part – III, Geography consists of Question Nos. G-1 to G-40, Part – III, Economics consists of Question 
Nos. E-1 to E-40 and Part – III, Political Science consists of Question Nos. P-1 to P-40. The questions 
and their responses are printed in English and Hindi versions both of Part – II and Part – III.

	 3.	A ll questions carry equal marks.
	 4.	 An Answer Sheet has been supplied inside the question booklet to mark the answers. You must write 

your Roll Number and encode it and write other particulars in the space provided in the Answer 
Sheet, failing which your Answer Sheet will not be evaluated.

	 5.	 Immediately after commencement of the examination, you should check up your Question Booklet 
and attached answer sheet and ensure that the Question Booklet Series is printed on the top right-hand 
corner of the Booklet and the series encoded in answer sheet are same. Also please check that the 
Booklet contains 88 printed pages including four pages (Page Nos. 84 to 87) for Rough Work and 
no page or question is missing or unprinted or torn or repeated or question booklet and answer 
sheet have different series. If you find any defect in this Booklet and attached answer sheet, get it 
replaced immediately by a complete Booklet with OMR sheet of the same series.

	 6.	 You must write your Roll Number in the space provided on the top of this page. Do not write anything else 
on the Question Booklet.

	 7.	 Each question comprises of five responses — (A), (B), (C), (D) and (E). You are to select Only One correct 
response and mark it in your Answer Sheet. Your total marks will depend on the number of correct 
responses marked by you in the Answer Sheet.

	 8.	 In the Answer Sheet, there are five circles — A , B , C , D  and E  against each question. To answer 
the questions, you are to mark with Black/Blue ink ballpoint pen Only one circle of your choice for each 
question. Select only one response for each question and mark it in your Answer Sheet. If you mark more 
than one answer for one question, the answer will be treated as wrong. Use Black/Blue ink ballpoint 
pen only to mark the answer in the Answer Sheet. Any erasure or change is not allowed.

	 9.	 If there is any sort of mistake either of printing or of factual nature, then out of English and Hindi versions 
of the questions, the English version will be treated as standard.

	 10.	 You should not remove or tear off any sheet from the Question Booklet. You are not allowed to take this 
Question Booklet and the Answer Sheet out of the Examination Hall during the examination. After the 
examination has concluded, you must hand over your Answer Sheet to the Invigilator. Thereafter, 
you are permitted to take away the Question Booklet with you.

	 11.	 Failure to comply with any of the above instructions will render you liable to such action or penalty as the 
Commission may decide at their discretion.

	 12.	 Candidates must assure before leaving the Examination Hall that their Answer Sheets will be kept in Self 
Adhesive LDPE Bag and completely packed/sealed in their presence.
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PART – I
(English Language)

	D irections (Q. Nos. E-1 to E-5) : Read the 
passage given below and answer the questions 
that follow.

	 Be like a flower. One must try to become like 
a flower : open, frank, equal, generous and 
kind. So you know what it means ? A flower 
is open to all that surrounds it : nature, light, 
the rays of the sun, the wind etc. It exerts a 
spontaneous influence on all that is around 
it. It radiates joy and beauty. It is frank. It 
hides nothing of its beauty lets its fragrance 
flow frankly out of itself. What is within 
and what is in its depths, it lets it come out 
so that everyone can see it. It is equal : it 
has no preferences. Everyone can enjoy its 
beauty and its perfume without rivalry. It is 
equal and the same for everybody. There is 
no difference or anything whatsoever. Then 
generous without reserve or restriction, it 
gives away the mysterious beauty and the 
very own perfume of nature. It sacrifices 
itself entirely for our pleasure, even its life 
sacrifices to express this beauty and the 
secret of the things gathered within itself. 
And then, kind : it has such a tenderness, 
it is so sweet, so close to us, so loving. 
Its presence fills us with joy. It is always 
cheerful and happy. Happy is he who can 
exchange his qualities with real qualities of 
the flowers.

	 E-1.	 A flower is open to all because
	 (A)	 It spreads its beauty to all
	 (B)	 It radiates joy
	 (C)	 It influences all
	 (D)	 More than one of the above
	 (E)	 None of the above

	 E-2.	 The author here talks about
	 (A)	 Lily flower
	 (B)	 Lotus flower
	 (C)	 Rose flower
	 (D)	 More than one of the above
	 (E)	 None of the above

	 E-3.	 A flower is compared
	 (A)	 With girls
	 (B)	 With human beings
	 (C)	 With all living things
	 (D)	 More than one of the above
	 (E)	 None of the above

	 E-4.	 A spontaneous influence means
	 (A)	 A quicker influence
	 (B)	 A slow influence
	 (C)	 Naturally created influence
	 (D)	 More than one of the above
	 (E)	 None of the above

	 E-5.	 The refined qualities of a flower are
	 (A)	 Frankness and honesty
	 (B)	 Generosity and kindness
	 (C)	 Fragrance and beauty
	 (D)	 More than one of the above
	 (E)	 None of the above

	D irections (Q. Nos. E-6 and E-7) : Fill in 
the blanks with suitable articles like ‘a’, ‘an’ 
and ‘the’ :

	 E-6.	 He saw ________ elephant at the Zoo.
	 (A)	 the
	 (B)	 an
	 (C)	 a
	 (D)	 More than one of the above
	 (E)	 None of the above

	 E-7.	 _______ good education is important.
	 (A)	 The
	 (B)	 An
	 (C)	 A
	 (D)	 More than one of the above
	 (E)	 None of the above

	 E-8.	 If 21 March is Wednesday, what will 
be 25th March ?

	 (A)	 Sunday
	 (B)	 Friday
	 (C)	 Thursday	
	 (D)	 More than one of the above
	 (E)	 None of the above
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(Hindi Language)

{ZX}e (àíZ g§»`m H-9 go H-18 VH$) : {ZåZ{b{IV 

An{R>V JÚm§em| H$mo Ü`mZnyd©H$ n{‹T>E Am¡a {XE JE àíZm| 

Ho$ ghr {dH$ën MwZH$a CÎma-nÌH$ _| {M{•V H$s{OE & 

JÚm§e - 1

AmXe© ì`pŠV gX²H$_m] _| AmñWm aIVm h¡ & Bgr _| dh 

AnZo OrdZ H$s gmW©H$Vm g_PVm h¡ & CgHo$ OrdZ H$m 

àË`oH$ jU gX²H$_© _| hr ì`VrV hmoVm h¡ & {dlm_ Am¡a 

{dZmoX Ho$ {bE CgHo$ nmg {ZpíMV g_` ahVm h¡ & dh 

eof g_` g_mO Ho$ CËWmZ _| bJmVm h¡ & CgHo$ OrdZ _| 

Ambñ` Ho$ {bE H$moB© ñWmZ Zht hmoVm & {dn{Îm`m| _| ^r 

dh AnZo M[aÌ H$m gƒm n[aM` XoVm h¡ & Y¡`©ê$nr Hw$Xmb 

go dh ~‹So>-~‹S>o g§H$Q>ê$nr nd©Vm| H$mo {Z_y©b H$a XoVm h¡ & 

CgH$s H$m`©Hw$ebVm XoIH$a bmoJ AmíM`©{d_y‹T> hmo OmVo 

h¢ & dh n[apñW{V`m| H$m Xmg Zht hmoVm, n[apñW{V`m± 

CgH$s Xmgr hmoVr h¢ & Bg AW© _| CgH$m M[aÌ àe§gZr` 

hmoVm h¡ {H$ dh Y¡`© go AnZo gmao g§H$Q> Xÿa H$aVm h¡ &

	 H-9.	 bmoJ AmíM`©{d_y‹T> Š`m| hmoVo h¢ ?

	 (A)	 AmXe© ì`pŠV H$s H$m`©Hw$ebVm XoIH$a

	 (B)	 AmXe© ì`pŠV H$m gmhg XoIH$a

	 (C)	 AmXe© ì`pŠV H$m kmZ XoIH$a

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	H-10.	 AmXe© ì`pŠV Ho$ OrdZ _| {H$gHo$ {bE ñWmZ 
Zht hmoVm ?

	 (A)	 Ambñ` Ho$ {bE

	 (B)	 _Zmo{dZmoX Ho$ {bE

	 (C)	 {dlm_ Ho$ {bE

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	H-11.	 AmXe© ì`pŠV {H$g_| AmñWm aIVm h¡ ?

	 (A)	 ào_ _|

	 (B)	 gX²ì`dhma _|

	 (C)	 gX²H$_© _|

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	H-12.	 àñVwV JÚm§e H$m Cn`wŠV erf©H$ h¡

	 (A)	 AmXe© ì`pŠV

	 (B)	 gX²H$_©

	 (C)	 H$_©erbVm

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	H-13.	 {H$g AW© _| AmXe© ì`pŠV H$m M[aÌ àe§gZr` 
hmoVm h¡ ?

	 (A)	 dh ~hmXþar go g§H$Q>m| H$m gm_Zm H$aVm h¡ 

	 (B)	 dh kmZ go g§H$Q> H$mo Xÿa H$aVm h¡ 

	 (C)	 dh Y¡`© go g§H$Q> H$mo Xÿa H$aVm h¡ 

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht
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JÚm§e - 2

ñdmñÏ` Am¡a M[aÌ EH$-Xÿgao go K{ZîR>Vm Ho$ gmW Ow‹S>o hmoVo 

h¢ & dhr ì`pŠV ñdñW hmoVm h¡ {OgHo$ M[aÌ _| AmË_g§`_ 

hmo & Mm[a{ÌH$ XÿfU ì`pŠV Ho$ nVZ H$m H$maU hmoVm h¡ & 

AmË_g§`_ H$mo M[aÌ H$s gr‹T>r H$hm J`m h¡ & Bgr gr‹T>r Ho$ 

_mÜ`_ go H$moB© ì`pŠV CÎmamoÎma {dH$mg H$s `mÌm V` H$aVm 

h¡ & ì`m`m_ H$mo ñdmñÏ` H$m ghmoXa H$hm J`m h¡ & `hr 

{H$gr ì`pŠV H$s H$m`m Am¡a {MÎm H$mo {Z_©b Am¡a ZréO 

(amoJa{hV) ~ZmVm h¡ & M[aÌ H$s ajm H$m AW© h¡ - H$m`m 

Am¡a {MÎm H$mo {d{^Þ XÿfUm| go _wŠV H$aZm &

	H-14.	 ì`pŠV Ho$ nVZ H$m H$maU h¡ 

	 (A)	 AË`{YH$ {d^y{V

	 (B)	 AË`{YH$ epŠV

	 (C)	 Mm[a{ÌH$ Xmof

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht	

	H-15.	 {d{^Þ XÿfUm| go _wŠV hmoZo H$m AW© h¡

	 (A)	 YZ H$s ajm

	 (B)	 M[aÌ H$s ajm

	 (C)	 n[adma H$s ajm

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	H-16.	 ñdñW ì`pŠV H$m bjU h¡ 

	 (A)	 AË`{YH$ ~b

	 (B)	 AmË_g§`_

	 (C)	 Anma g§nXm

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	H-17.	 {H$gr ì`pŠV H$m {dH$mg {H$g na Am{lV h¡ ?

	 (A)	 AmË_g§`_

	 (B)	 g_w{MV AÜ``Z

	 (C)	 gËg§J{V

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	H-18.	 ñdmñÏ` H$m ghmoXa h¡

	 (A)	 ì`m`m_

	 (B)	 Am¡f{Y

	 (C)	 nm¡pîQ>H$ ^moOZ

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	H-19.	 ‘gå_wI’ H$m {dnarVmW©H$ h¡

	 (A)	 Xþ_©wI

	 (B)	 {d_wI

	 (C)	 gw_wI

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	H-20.	 VËg_ eãX h¡

	 (A)	 àH¥${V

	 (B)	 _wëH$

	 (C)	 Xdm

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht
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	H-21.	 ‘A§JyR>m {XImZm’ _whmdao H$m AW© h¡
	 (A)	 g_` na YmoIm XoZm
	 (B)	 AÝ`m` H$aZm
	 (C)	 ~oB‚mV H$aZm
	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$
	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	H-22.	 ewÕ dmŠ` h¡ 

	 (A)	 dh {H$Vm~ bm`m &

	 (B)	 dh Zo hr H$hm h¡ &

	 (C)	 VmOm Jm` H$m XÿY nrZm Mm{hE &

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	H-23.	 ^mddmMH$ g§km h¡
	 (A)	 ~w‹T>mnm
	 (B)	 AaqdX
	 (C)	 `m¡dZ
	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$
	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	H-24.	 ewÕ eãX h¡

	 (A)	 AZYrH$ma

	 (B)	 AZm{YH$ma

	 (C)	 AZ{YH$ma

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	H-25.	 ‘ í`m_gw§Xa’ _| g_mg h¡ 
	 (A)	 {ÛJw
	 (B)	 H$_©Yma`
	 (C)	 VËnwéf
	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$
	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	H-26.	 ‘Amdí`H$’ _| àË`` h¡ 
	 (A)	 AH$
	 (B)	 í`H$
	 (C)	 `H$
	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	H-27.	 ‘ {ed’ H$m n`m©` h¡
	 (A)	 H§$Xn©
	 (B)	 {ZO©a
	 (C)	 e{eeoIa
	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$
	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	H-28.	 {deofU h¡ 
	 (A)	 OrdZr
	 (B)	 Ord§V
	 (C)	 Ord§VVm
	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$
	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	H-29.	 ‘AZwamJ’ _| H$m¡Z-gm CngJ© h¡ ?
	 (A)	 AZ
	 (B)	 A
	 (C)	 AZw
	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	H-30.	 ‘AË`{YH$’ eãX _| H$m¡Z-gr g§{Y h¡ ?
	 (A)	 ì`§OZ g§{Y
	 (B)	 {dgJ© g§{Y
	 (C)	 ñda g§{Y
	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$
	 (E)	 Cn`w©ŠV _| go H$moB© Zht
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( Urdu Language)

	 	 .U-9

	 	 (A)

	 	 (B)

	 	 (C)

	 	 (D)

	 	 (E)

	 	 .U-10

	 	 (A)

	 	 (B)

	 	 (C)

	 	 (D)

	 	 (E)

	 	 .U-11

	 	 (A)

	 	 (B)

	 	 (C)

	 	 (D)

	 	 (E)

	 	 .U-12

	 	 (A)

	 	 (B)

	 	 (C)

	 	 (D)

	 	 (E)
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	 	 .U-13

	 	 (A)

	 	 (B)

	 	 (C)

	 	 (D)

	 	 (E)

	 	 .U-14

	 	 (A)

	 	 (B)

	 	 (C)

	 	 (D)

	 	 (E)

	 	 .U-15

	 	 (A)

	 	 (B)

	 	 (C)

	 	 (D)

	 	 (E)

	 	 .U-16

	 	 (A)

	 	 (B)

	 	 (C)

	 	 (D)

	 	 (E)

	 	 .U-17

	 	 (A)

	 	 (B)

	 	 (C)

	 	 (D)

	 	 (E)
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	 	 .U-18

	 	 (A)

	 	 (B)

	 	 (C)

	 	 (D)

	 	 (E)

	 	 .U-19

	 	 (A)

	 	 (B)

	 	 (C)

	 	 (D)

	 	 (E)

	 	 .U-20

	 	 (A)

	 	 (B)

	 	 (C)

	 	 (D)

	 	 (E)

	 	 .U-21

	 	 (A)

	 	 (B)

	 	 (C)

	 	 (D)

	 	 (E)

	 	 .U-22

	 	 (A)

	 	 (B)

	 	 (C)

	 	 (D)

	 	 (E)

	 	 .U-23

	 	 (A)

	 	 (B)

	 	 (C)

	 	 (D)

	 	 (E)

	 	 .U-24

	 	 (A)

	 	 (B)

	 	 (C)

	 	 (D)

	 	 (E)
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	 	 .U-25

	 	 (A)

	 	 (B)

	 	 (C)

	 	 (D)

	 	 (E)

	 	 .U-26

	 	 (A)

	 	 (B)

	 	 (C)

	 	 (D)

	 	 (E)

	 	 .U-27

	 	 (A)

	 	 (B)

	 	 (C)

	 	 (D)

	 	 (E)

	 	 .U-28

	 	 (A)

	 	 (B)

	 	 (C)

	 	 (D)

	 	 (E)

	 	 .U-29

	 	 (A)

	 	 (B)

	 	 (C)

	 	 (D)

	 	 (E)

	 	 .U-30

	 	 (A)

	 	 (B)

	 	 (C)

	 	 (D)

	 	 (E)
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( Bengali Language)

	 B-9.	

	 (A)	

	 (B)	

	 (C)	

	 (D)	

	 (E)	

	B-10.	

	 (A)	

	 (B)	

	 (C)	

	 (D)	

	 (E)	

	B-11.	

	 (A)	

	 (B)	

	 (C)	

	 (D)	

	 (E)	

	B-12.	

	 (A)	

	 (B)	

	 (C)	

	 (D)	

	 (E)	

	B-13.	

	 (A)	

	 (B)	

	 (C)	

	 (D)	

	 (E)	
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	B-14.	

	 (A)	

	 (B)	

	 (C)	

	 (D)	

	 (E)	

	B-15.	

	 (A)	

	 (B)	

	 (C)	

	 (D)	

	 (E)	

B-16.		

	 (A)	

	 (B)	

	 (C)	

	 (D)	

	 (E)	

	B-17.	

	 (A)	

	 (B)	

	 (C)	

	 (D)	

	 (E)	
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	B-18.	
	 (A)	

	 (B)	

	 (C)	

	 (D)	

	 (E)	

	B-19.	

	 (A)	

	 (B)	

	 (C)	

	 (D)	

	 (E)	 	

	B-20.	

	 (A)	

	 (B)	

	 (C)	

	 (D)	

	 (E)	

	B-21.	

	 (A)	

	 (B)	

	 (C)	

	 (D)	

	 (E)	

	B-22.	

	 (A)	

	 (B)	

	 (C)	

	 (D)	

	 (E)	

	B-23.	

	 (A)	

	 (B)	

	 (C)	

	 (D)	

	 (E)	
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	B-24.	

	 (A)	

	 (B)	

	 (C)	

	 (D)	

	 (E)	

	B-25.	

	 (A)	

	 (B)	

	 (C)	

	 (D)	

	 (E)	

	B-26.	

	 (A)	

	 (B)	

	 (C)	

	 (D)	

	 (E)	

	B-27.	

	 (A)	

	 (B)	

	 (C)	

	 (D)	

	 (E)	

	B-28.	

	 (A)	

	 (B)	

	 (C)	

	 (D)	

	 (E)	

	B-29.	
	 (A)	

	 (B)	

	 (C)	

	 (D)	

	 (E)	

	B-30.	

	 (A)	

	 (B)	

	 (C)	

	 (D)	

	 (E)	
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	 31.	 Asiatic Society of Bengal was 
founded by

	 (A) 	 Sir William Bentinck

	 (B) 	 Sir William Jones

	 (C)	 Sir James Todd

	 (D)	 More than one of the above

	 (E)	 None of the above

	 32.	 Which of the following oxides is 

soluble in water ?

	 (A)	 FeO

	 (B)	 CaO

	 (C)	 ZnO

	 (D)	 More than one of the above

	 (E)	 None of the above

	 33.	 Subramaniam and Naidu donate 
some money in a relief fund. The 
amount paid by Naidu is ` 125 more 
than that of Subramaniam. If the 
total money paid by them is ` 975, 
then the amount of money donated 
by Subramaniam is

	 (A)	 ` 385

	 (B)	 ` 425

	 (C)	 ` 575

	 (D)	 More than one of the above

	 (E)	 None of the above

	 34.	 Subhashchandra Bose was President 
of Indian National Congress in the	
 year/s 

	 (A) 	 1939

	 (B) 	 1938

	 (C)	 1937

	 (D)	 More than one of the above

	 (E)	 None of the above

	 35.	 Which river makes boundary between 
India and Nepal ?

	 (A) 	 Kosi

	 (B) 	 Gandak

	 (C) 	 Kali

	 (D) 	 More than one of the above

	 (E)	 None of the above

	 36.	 The Ministry of Science and 
Technology recently announced a 
new set of National Awards in the 
field of Science, Technology and 
Innovation known as ‘Rashtriya 
Vigyan Puraskar’, for which the 
award ceremony for all categories of 
awards will be held every year on

	 (A) 	 23rd August – National Space Day

	 (B) 	 11th May – National Technology 	
		       Day

	 (C) 	 28th February – National Science  	
			   Day

	 (D)	 More than one of the above

	 (E)	 None of the above

PART – II
(General Studies)
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PART – II
(General Studies)

	 31.	 E{e`m{Q>H$ gmogmBQ>r Am°\$ ~§Jmb H$s ñWmnZm 

{H$gHo$ X²dmam H$s JB© Wr ?

	 (A)	 ga {d{b`_ ~|{Q>§H$

	 (B)	 ga {d{b`_ OmoÝg

	 (C)	 ga Ooåg Q>m°S>

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 32.	 {ZåZ Am°ŠgmBS>m| _| H$m¡Z-gm Ob _| KwbZerb h¡ ?

	 (A)	 FeO

	 (B)	 CaO

	 (C)	 ZnO

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 33.	 gw~«_Ê`_ Am¡a Zm`Sy> Zo amhV H$mof _| Hw$N> n¡go 
XmZ {H$E & Zm`Sy> Ûmam Xr JB© am{e gw~«_Ê`_ 
Ûmam Xr JB© am{e go ` 125 A{YH$ h¡ & `{X  
CZHo$ Ûmam XmZ H$s Hw$b YZam{e ` 975 h¡, Vmo 
gw~«_Ê`_ Ûmam XmZ H$s JB© YZam{e h¡

	 (A)	 ` 385

	 (B)	 ` 425

	 (C)	 ` 575

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 34.	 gw^mfM§Ð ~mog {H$g df© ^maVr` amîQ´>r` H$m§J«og 
Ho$ AÜ`j Wo ?

	 (A) 	 1939

	 (B) 	 1938

	 (C)	 1937

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 35.	 H$m¡Z-gr ZXr ^maV Am¡a Zonmb Ho$ ~rM gr_m 
~ZmVr h¡ ?

	 (A)	 H$mogr

	 (B)	 J§S>H$

	 (C)	 H$mbr

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 36.	 {dkmZ Am¡a àm¡Úmo{JH$s _§Ìmb` Zo hmb hr _| 
{dkmZ, àm¡Úmo{JH$s Am¡a ZdmMma Ho$ joÌ _| amîQ´>r` 
nwañH$mam| Ho$ EH$ ZE goQ> H$s KmofUm H$s, {Ogo 
‘ amîQ´>r` {dkmZ nwañH$ma’ Ho$ Zm_ go OmZm OmVm 
h¡, {OgHo$ {bE g^r lo{U`m| Ho$ nwañH$mam| Ho$ 
{bE nwañH$ma g_mamoh ha gmb Am`mo{OV {H$`m 
OmEJm 

	 (A)	 23 AJñV - amîQ́>r` A§V[aj {Xdg Ho$ {XZ

	 (B)	 11 _B© - amîQ´>r` àm¡Úmo{JH$s {Xdg Ho$ {XZ

	 (C)	 28 \$adar - amîQ´>r` {dkmZ {Xdg Ho$ {XZ

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht
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	 37.	 Which of the following is true about 
respiration ?

	 (A)	 Energy is not released at all

	 (B)	 Energy is released and stored in 
form of ADP

	 (C)	 Energy is released and stored in 
form of ATP

	 (D)	 More than one of the above

	 (E)	 None of the above

	 38.	 Which of the following is true ?

	 (A)	 31
36

17
18

43
45

59
60

< < <

	 (B)	 31
36

17
18

59
60

43
45

< < <

	 (C)	
17
18

31
36

43
45

59
60

< < <

	 (D)	 More than one of the above

	 (E)	 None of the above

	 39.	 Famous for his role during 26/11 
Mumbai terrorist attacks,  
Dr. Sadanand Date was appointed 
as Chief of which one of the following 
forces in March 2024 ?

	 (A) 	 Enforcement Directorate (ED)

	 (B) 	 Central Reserve Police Force 
(CRPF)

	 (C) 	 Border Security Force (BSF)

	 (D) 	 More than one of the above

	 (E) 	 None of the above

	 40.	 What is manganese used for ?

	 (A)	 Matchbox industry

	 (B)	 Photography industry

	 (C)	 Battery production

	 (D)	 More than one of the above

	 (E)	 None of the above

	 41.	 Who threw harmless bombs in the 
Central Legislative Assembly ?

	 (A) 	 Jatin Das

	 (B) 	 Batukeshwar Dutt

	 (C)	 Chandrashekhar Azad

	 (D)	 More than one of the above

	 (E)	 None of the above

	 42.	 Which of the following organs control 
body balance ?

	 (A)	 Cerebellum

	 (B)	 Ribs

	 (C)	 Ear

	 (D)	 More than one of the above

	 (E)	 None of the above

H H H H H H H H H
 H

 H
 H H H H H H H H H H

 H
 H

 H

    I
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	 37.	 ídmg à{H«$`m Ho$ {bE {ZåZ _| H$m¡Z-gm H$WZ  
gË` h¡ ?

	 (A)	 D$Om© H$^r òm{dV Zht hmoVr h¡

	 (B)	 D$Om© òm{dV hmoVr h¡ VWm ADP Ho$ ê$n _| 
^ÊS>m[aV hmoVr h¡  

	 (C)	 D$Om© òm{dV hmoVr h¡ VWm ATP Ho$ ê$n _| 
^ÊS>m[aV hmoVr h¡ 

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 38.	 {ZåZ{b{IV _| go H$m¡Z-gm ghr h¡ ?

	 (A)	 31
36

17
18

43
45

59
60

< < <

	 (B)	 31
36

17
18

59
60

43
45

< < <

	 (C)	
17
18

31
36

43
45

59
60

< < <

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 39.	 26/11 _w§~B© AmV§H$dmXr h_bm| Ho$ Xm¡amZ AnZr 

^y{_H$m Ho$ {bE à{gÕ, S>m°. gXmZ§X XmVo H$mo  

_mM© 2024 _| {ZåZ{b{IV _| go {H$g ~b Ho$ 

à_wI Ho$ ê$n _| {Z`wŠV {H$`m J`m Wm ?

	 (A)	 àdV©Z {ZXoemb` (B©S>r)

	 (B)	 H|$Ðr` [aOd© nw{bg ~b (grAmanrE\$)

	 (C)	 gr_m gwajm ~b (~rEgE\$)

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 40.	 _¢JZrO H$m Cn`moJ H$hm± {H$`m OmVm h¡ ?

	 (A)	 _m{Mg CX²`moJ

	 (B)	 \$moQ>moJ«m\$s CX²`moJ

	 (C)	 ~¡Q>ar CËnmXZ

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 41.	 Ho$ÝÐr` {dYmZ g^m _| hm{Za{hV ~_ {H$gZo \|$Ho$ ?

	 (A)	 O{VZ Xmg

	 (B)	 ~Qw>Ho$ída XÎm

	 (C)	 MÝÐeoIa AmOmX

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 42.	 {ZåZ _| eara H$m H$m¡Z-gm A§J eara Ho$ g§VwbZ 
H$mo {Z`§{ÌV H$aVm h¡ ?

	 (A)	 goao~ob_

	 (B)	 ngbr

	 (C)	 H$mZ

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

H H H H H H H H H
 H

 H
 H H H H H H H H H H

 H
 H

 H

    I
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	 43.	 The value of ( . )0 03125
2
5

−
 is 

	 (A)	 9

	 (B)	 6

	 (C)	 4

	 (D)	 More than one of the above

	 (E)	 None of the above

	 44.	 Store house of malarial parasite in 
our body is

	 (A)	 Stomach

	 (B)	 Spleen

	 (C)	L iver

	 (D)	 More than one of the above

	 (E)	 None of the above

	 45.	 Which one of the following is not 
among the four pilots who have been 
trained to become astronauts for the 
ISRO’s Gaganyaan mission to space 
planned for 2024-25 ?

	 (A) 	Wing Commander Subhanshu 
Shukla

	 (B) 	 Group Captain Ajit Krishnan

	 (C) 	 Group Captain P.B. Nair	

	 (D)	 More than one of the above

	 (E)	 None of the above

	 46.	 What is India’s position in the world 
on the basis of per capita water 
availability per year ?

	 (A)	 133rd

	 (B)	 140th

	 (C)	 123rd

	 (D)	 100th

	 (E)	 None of the above

	 47.	 Under the Government of India 
Act 1935, who was the first elected 
Chairman of Bihar Legislative 
Council ?

	 (A) 	 Rai Bahadur Satish Chandra

	 (B) 	 Rajiv Ranjan Sinha

	 (C)	 Rajendra Prasad

	 (D)	 More than one of the above

	 (E)	 None of the above

	 48.	 Who was conferred the Dadasaheb 
Phalke Award 2023 for lifetime 
contribution to cinema ?

	 (A) 	 Asha Parekh

	 (B) 	 Dilip Kumar (Posthumously)

	 (C) 	Waheeda Rehman	

	 (D)	 More than one of the above

	 (E)	 None of the above
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	 43.	 ( . )0 03125
2
5

−
 H$m _mZ h¡ 

	 (A)	 9

	 (B)	 6

	 (C)	 4

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 44.	 h_mao eara _| _bo[a`m naOrdr H$m ^ÊS>maU  
ñWb h¡

	 (A)	 noQ>

	 (B)	 ßbrhm

	 (C)	 `H¥$V

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 45.	 {ZåZ{b{IV _| go H$m¡Z-gm CZ Mma nm`bQ>m| _| 

go Zht h¡ {OÝh| 2024-25 Ho$ {bE `moOZm~Õ 

A§V[aj _| Bgamo Ho$ JJZ`mZ {_eZ Ho$ {bE 

A§V[aj `mÌr ~ZZo Ho$ {bE à{e{jV {H$̀ m J`m h¡ ?

	 (A)	 qdJ H$_m§S>a gw^m§ew ewŠbm

	 (B)	 J«wn H¡$ßQ>Z AOrV H¥$îUZ

	 (C)	 J«wn H¡$ßQ>Z nr.~r. Zm`a

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 46.	 à{V ì`pŠV à{V df© Ob CnbãYVm Ho$ AmYma 

na ^maV H$m {díd _| H$m¡Z-gm ñWmZ h¡ ?

	 (A)	 133 dm±

	 (B)	 140 dm±

	 (C)	 123 dm±

	 (D)	 100 dm±

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 47.	 ^maV gaH$ma A{Y{Z`_ 1935 Ho$ VhV {~hma 
{dYmZ n[afX Ho$ àW_ {Zdm©{MV g^mn{V H$m¡Z Wo ?

	 (A)	 am` ~hmXþa gVre M§Ð

	 (B)	 amOrd a§OZ {gÝhm

	 (C)	 amO|Ð àgmX

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 48.	 {gZo_m _| AmOrdZ `moJXmZ Ho$ {bE XmXmgmh~ 

\$mëHo$ nwañH$ma 2023 go {H$go gå_m{ZV {H$`m 

J`m ?

	 (A)	 Amem nmaoI

	 (B)	 {Xbrn Hw$_ma (_aUmonam§V)

	 (C)	 dhrXm ah_mZ

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht
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	 49.	 If 1
5

0 008
3







 =

x

. , then the value of 

(0.25)x is

	 (A)	 4.0

	 (B)	 1.0

	 (C)	 0.25

	 (D)	 More than one of the above

	 (E)	 None of the above

	 50.	 The ratio of two numbers is 14 : 25. 
If the difference between them is 264, 
then the smaller of the two numbers is 

	 (A)	 336

	 (B)	 317

	 (C)	 282

	 (D)	 More than one of the above

	 (E)	 None of the above

	 51.	 What was the electoral symbol 
that was restored to Imran Khan’s 
Pakistan Tehreek-e-Insaf party by a 
ruling of the Peshawar High Court 
against the decision of the Country’s 
election commission in January 2024 ?

	 (A) 	 Cricket ‘Ball’

	 (B) 	 Crescent Moon

	 (C) 	 Cricket ‘Bat’

	 (D)	 More than one of the above

	 (E)	 None of the above

	 52.	 In which year was the African 
Convention for the Conservation of 
Natural Resources held ?

	 (A) 	 1990

	 (B) 	 1980

	 (C) 	 1968

	 (D) 	 1960

	 (E)	 None of the above

	 53.	 For what purpose is water used the 
most in India ?

	 (A) 	 Domestic

	 (B) 	 Industries

	 (C) 	 Irrigation

	 (D)	 More than one of the above

	 (E)	 None of the above

	 54.	 Bihar Diwas is celebrated on 
___________ to

	 (A) 	 On March 22 to commemorate 
its separation form the Calcutta 
Presidency

	 (B) 	 On March 22 to commemorate 
its separation form the Bengal 
Presidency

	 (C)	 On March 22 to commemorate 
its separation form the Mughal 
Presidency

	 (D)	 More than one of the above

	 (E)	 None of the above
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	 49.	 `{X 1
5

0 008
3







 =

x

. hmo, Vmo (0.25)x H$m  

_mZ h¡

	 (A)	 4.0

	 (B)	 1.0

	 (C)	 0.25

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 50.	 Xmo g§»`mAm| H$m AZwnmV 14 : 25 h¡ & `{X CZHo$ 
~rM H$m A§Va 264 h¡, Vmo XmoZm| g§»`mAm| _| go 
N>moQ>r g§»`m h¡  

	 (A)	 336

	 (B)	 317

	 (C)	 282

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 51.	 OZdar 2024 _| Xoe Ho$ MwZmd Am`moJ Ho$ \¡$gbo 

Ho$ {Ibm\$ noemda CÀN> Ý`m`mb` Ho$ EH$ \¡$gbo 

Ûmam B_amZ ImZ H$s nm{H$ñVmZ VharH$-E-B§gm\$ 

nmQ>u H$mo ~hmb {H$`m J`m MwZmdr àVrH$ Š`m  

Wm ?

	 (A)	 {H«$Ho$Q> ‘~m°b>’

	 (B)	 dY©_mZ M§Ð_m

	 (C)	 {H«$Ho$Q> ‘~¡Q>’

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 52.	 àmH¥${VH$ g§gmYZm| Ho$ g§ajU Ho$ {bE A\«$sH$s 

gå_obZ {H$g df© Am`mo{OV {H$`m J`m Wm ?

	 (A) 	 1990

	 (B) 	 1980

	 (C) 	 1968

	 (D) 	 1960

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 53.	 ^maV _| nmZr H$m gdm©{YH$ Cn`moJ {H$g à`moOZ 

Ho$ {bE {H$`m OmVm h¡ ?

	 (A)	 Kaoby

	 (B)	 CX²`moJ

	 (C)	 qgMmB©

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 54.	 {~hma {Xdg __________ _Zm`m OmVm h¡ &

	 (A)	 22 _mM© H$mo H$bH$Îmm àogrS>|gr go AbJ 

hmoZo Ho$ Cnbú` _|

	 (B)	 22 _mM© H$mo ~§Jmb àogrS>|gr go AbJ hmoZo 

Ho$ Cnbú` _|

	 (C)	 22 _mM© H$mo _wJb àogrS>|gr go AbJ hmoZo 

H$s ñ_¥{V _|

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht
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	 55.	 Congress Socialist Party (CSP) was 
formed in the year 

	 (A) 	 1934

	 (B) 	 1932

	 (C)	 1930

	 (D)	 More than one of the above

	 (E)	 None of the above

	 56.	 If x4 + y4 = 17 and x + y = 1, then the 

value of x2y2 – 2xy is

	 (A)	 12

	 (B)	 8

	 (C)	 4

	 (D)	 More than one of the above

	 (E)	 None of the above

	 57.	 In how many years will ̀  7,500 double 
at 8% simple interest ?

	 (A)	 16 years

	 (B)	 12.5 years

	 (C)	 10 years

	 (D)	 More than one of the above

	 (E)	 None of the above

	 58.	 Where is the UN Climate Change 	
Conference 2024 scheduled to be  
held in November 2024 ?

	 (A)	 Dubai-UAE

	 (B)	 Baku-Azerbaijan

	 (C)	 Sharmel-Sheikh-Egypt

	 (D)	 More than one of the above

	 (E)	 None of the above

	 59.	 Which one of the following is not a 

colloid ?

	 (A)	 Vinegar

	 (B)	 Blood

	 (C)	 Smoke

	 (D)	 More than one of the above

	 (E)	 None of the above

	 60.	 Which Country in the world became 
the first to enshrine right to abortion 
in its Constitution ?

	 (A) 	 Denmark

	 (B) 	 France

	 (C) 	 United States

	 (D)	 More than one of the above

	 (E)	 None of the above
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	 55.	 H$m§J«og gmo{e`{bñQ> nmQ>u (grEgnr) H$m JR>Z 
{H$g df© hþAm Wm ?

	 (A) 	 1934

	 (B) 	 1932

	 (C)	 1930

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 56.	 `{X x4 + y4 = 17 VWm x + y = 1 hmo, Vmo 

		  x2y2 – 2xy H$m _mZ h¡

	 (A)	 12

	 (B)	 8

	 (C)	 4

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 57.	 {H$VZo dfm] _| ` 7,500, 8% gmYmaU ã`mO na 
XmoJwZm hmo Om`oJm ?

	 (A)	 16 df©

	 (B)	 12.5 df©

	 (C)	 10 df©

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 58.	 Zd§~a 2024 _| g§`wŠV amîQ´> Obdm`w n[adV©Z 
gå_obZ 2024 H$hm± Am`mo{OV hmoZo dmbm h¡ ?

	 (A)	 Xþ~B©-`yEB©

	 (B)	 ~mHy$-AµOa~¡OmZ

	 (C)	 e_}b-eoI-{_ò

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 59.	 {ZåZ _o§ H$m¡Z-gm H$mobm`S> Zht h¡ ?

	 (A)	 {gaH$m

	 (B)	 aŠV

	 (C)	 YwAm±

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 60.	 {dœ H$m H$m¡Z-gm Xoe AnZo g§{dYmZ _| J^©nmV H$m 

A{YH$ma gw{Z{üV H$aZo dmbm nhbm Xoe ~Zm ?

	 (A)	 S>oZ_mH©$

	 (B)	 \«$m§g

	 (C)	 g§`wŠV amÁ` A_o[aH$m

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht
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	 61.	 Plants appear to bend towards light 
due to

	 (A)	 Concentration of auxins at shoot 
tip

	 (B)	 Concentration of auxins at root tip

	 (C)	 Diffusion of auxins towards 
shady side of shoot

	 (D)	 More than one of the above

	 (E)	 None of the above

	 62.	 A room is 8 meters long, 6 meters wide 
and 10 meters high, then the length 
of the longest pole that can be placed 
in the room is

	 (A)	 12 6 meters

	 (B)	 12 meters

	 (C)	 10 2 meters

	 (D)	 More than one of the above

	 (E)	 None of the above

	 63.	 Which city was recently declared as 
the tourism capital of the Country by 
the government of Nepal ?

	 (A) 	 Pokhara

	 (B) 	 Kathmandu

	 (C) 	L umbini

	 (D)	 More than one of the above

	 (E)	 None of the above

	 64.	 Where has the Gharial Breeding 

Center been established in India ?

	 (A)	 Corbett (Uttarakhand)

	 (B)	 Sundarbans (W.B.)

	 (C)	 Morena (M.P.)

	 (D)	 More than one of the above

	 (E)	 None of the above

	 65.	 National Library of India started its 

journey with the opening of

	 (A) 	 Calcutta Public Library in  

March 1838

	 (B) 	 Calcutta Public Library in  

March 1837

	 (C)	 Calcutta Public Library in  

March 1836

	 (D)	 More than one of the above

	 (E)	 None of the above
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	 61.	 àH$me H$s Amoa nm¡Ym| Ho$ PwH$md H$m _w»`  
H$maU h¡

	 (A)	 àamoh N>moa na Am°pŠgZ H$s gmÝÐVm

	 (B)	 _ybmJ« na Am°pŠgZ H$s gmÝÐVm

	 (C)	 àamoh Ho$ N>m`mXma ̂ mJ H$s Amoa Am°pŠgZ H$m 
{dgaU

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 62.	 EH$ H$_am 8 _rQ>a b§~m, 6 _rQ>a Mm¡‹S>m Am¡a  
10 _rQ>a D§$Mm h¡, Vmo H$_ao _| aIo Om gH$Zo dmbo 
g~go b§~o I§^o H$s bå~mB© h¡

	 (A)	 12 6 _rQ>a

	 (B)	 12 _rQ>a

	 (C)	 10 2 _rQ>a

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 63.	 hmb hr _| Zonmb gaH$ma Ûmam {H$g eha H$mo Xoe 

H$s n`©Q>Z amOYmZr Kmo{fV {H$`m J`m ?

	 (A)	 nmoIam

	 (B)	 H$mR>_m§Sy>

	 (C)	 bw§{~Zr

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 64.	 ^maV _| K{‹S>`mb àOZZ H|$Ð H$hm± ñWm{nV {H$`m 

J`m h¡ ?

	 (A)	 H$m°~}Q> (CÎmamI§S>)

	 (B)	 gw§Xa~Z (S>ãë`y.~r.)

	 (C)	 _wa¡Zm (_.à.)

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 65.	 ^maV Ho$ amîQ´>r` nwñVH$mb` Zo AnZr ̀ mÌm {H$gHo$ 

CX²KmQ>Z Ho$ gmW ewê$ H$s ?

	 (A)	 _mM© 1838 _| H$bH$Îmm npãbH$ bmB~«oar

	 (B)	 _mM© 1837 _| H$bH$Îmm npãbH$ bmB~«oar

	 (C)	 _mM© 1836 _| H$bH$Îmm npãbH$ bmB~«oar

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht
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	 66.	 The formation of Simon Commission 

was announced on 

	 (A) 	 8th November 1929

	 (B) 	 8th November 1928

	 (C)	 8th December 1927

	 (D)	 More than one of the above

	 (E)	 None of the above

	 67.	 Where are more favorable conditions 

found in India for tidal and wave 

energy production ?

	 (A) 	 Ganga river

	 (B) 	 Gulf of Kutch

	 (C) 	 Khambhat bay

	 (D) 	 Mannar bay

	 (E)	 None of the above

	 68.	 Which of the following represents 

non-ohmic resistance ?

	 (A)	 Copper

	 (B)	 Nichrome

	 (C)	 Torch Bulb

	 (D)	 More than one of the above

	 (E)	 None of the above

	 69.	L amps used in street lighting are 
connected in 

	 (A)	 Both series and parallel

	 (B)	 Series

	 (C)	 Parallel

	 (D)	 More than one of the above

	 (E)	 None of the above

	 70.	 Ghatshila of Jharkhand is famous 

for which mineral production ?

	 (A) 	 Mica

	 (B) 	 Bauxite

	 (C)	 Copper

	 (D)	 More than one of the above

	 (E)	 None of the above
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	 66.	 gmB_Z H$_reZ Ho$ JR>Z H$s KmofU H$~ H$s JB© 

Wr ?

	 (A) 	 8 Zd§~a 1929

	 (B) 	 8 Zd§~a 1928

	 (C)	 8 {Xg§~a 1927

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 67.	 ^maV _| Ádmar` Ed§ Va§J D$Om© CËnmXZ Ho$ {bE 

A{YH$ AZwHy$b n[apñW{V`m± H$hm± nmB© OmVr h¢ ?

	 (A)	 J§Jm ZXr

	 (B)	 H$ÀN> H$s Im‹S>r

	 (C)	 I§^mV Im‹S>r

	 (D)	 _Þma Im‹S>r

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 68.	 {ZåZ _| H$m¡Z-gm J¡a Amoh{_H$ à{VamoY H$m 

à{V{Z{YËd H$aVm h¡ ?

	 (A)	 Vm±~m

	 (B)	 ZmBH«$mo_

	 (C)	 Q>mM© ~ë~

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 69.	 g‹S>H$ àH$me _| Cn`moJ AmZo dmbo ~ë~m| H$mo 
Omo‹S>m OmVm h¡ 

	 (A)	 XmoZmo§ loUr VWm g_mZmÝVa H«$_ _|

	 (B)	 loUr H«$_ _|

	 (C)	 g_mZmÝVa H«$_ _|

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 70.	 PmaI§S> H$m KmQ>{ebm {H$g I{ZO CËnmXZ Ho$ 

{bE à{gÕ h¡ ?

	 (A)	 A^«H$

	 (B)	 ~m°ŠgmBQ>

	 (C)	 Vm§~m

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht
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PART – III
(History)

	 H-1.	 Who was the leader of the Ghadar 	

Movement,  a  revolutionary  movement 

aimed at overthrowing British rule 

in India ?

	 (A)	 Kartar Singh Sarabha

	 (B)	L ala Lajpat Rai

	 (C)	 Bhagat Singh

	 (D)	 More than one of the above

	 (E)	 None of the above

	 H-2.	 Which agreement failed to resolve 
the border issues between India 
and China, ultimately leading to the 
conflict ?

	 (A)	 Tashkent Agreement

	 (B)	 Shimla Agreement

	 (C)	 Panchsheel Agreement

	 (D)	 More than one of the above

	 (E)	 None of the above

	 H-3.	 The Gupta-Vakataka age saw the 
development of which significant 
school of Indian philosophy, focusing 
on logical reasoning and debate ?

	 (A)	 Mimamsa

	 (B)	 Vaisheshika

	 (C)	 Nyaya

	 (D)	 More than one of the above

	 (E)	 None of the above

	 H-4.	 The famous Dandi March led by 
Mahatma Gandhi during the Civil 
Disobedience Movement covered a 
distance of approximately

	 (A)	 241 Miles

	 (B)	 400 kilometers

	 (C)	 200 kilometers

	 (D)	 More than one of the above

	 (E)	 None of the above

	 H-5.	 Which Assyrian King collected a 

library at his capital, Nineveh ?

	 (A)	 Esarhaddon

	 (B)	 Shalmaneser III

	 (C)	 Assurbanipal (668-627 BCE)

	 (D)	 More than one of the above

	 (E)	 None of the above

	 H-6.	 What was the significance of the Yen 
Bai Mutiny in 1930 in Vietnamese 
nationalist history ?

	 (A)	 It resulted in the execution of 
several nationalist leaders

	 (B)	 It marked the beginning of armed 
resistance against French colonial 
rule

	 (C)	 It led to the establishment of the 
Viet Minh 

	 (D)	 More than one of the above

	 (E)	 None of the above
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PART – III
(History)

	 H-1.	 JXa Am§XmobZ, EH$ H«$m§{VH$mar Am§XmobZ {OgH$m 
CX²Xoí` ̂ maV _| {~«{Q>e emgZ H$mo CIm‹S> \|$H$Zm 
Wm, Ho$ ZoVm H$m¡Z Wo ?

	 (A)	 H$aVma qgh gam^m

	 (B)	 bmbm bOnV am`

	 (C)	 ^JV qgh

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 H-2.	 H$m¡Z-gm g_Pm¡Vm ^maV Am¡a MrZ Ho$ ~rM 
gr_m _wX²Xm| H$mo hb H$aZo _| {d\$b ahm, {Oggo 
A§VV: g§Kf© hþAm ?

	 (A)	 VmeH§$X g_Pm¡Vm

	 (B)	 {e_bm g_Pm¡Vm

	 (C)	 n§Merb g_Pm¡Vm

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 H-3.	 JwßV-dmH$mQ>H$ `wJ _| Vm{H©$H$ VH©$ Am¡a ~hg 
na Ü`mZ Ho$pÝÐV H$aVo hþE ̂ maVr` Xe©Z Ho$ {H$g  
_hÎdnyU© ñHy$b H$m {dH$mg hþAm ?

	 (A)	 _r_m§gm

	 (B)	 d¡eo{fH$

	 (C)	 Ý`m`

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 H-4.	 g{dZ` Adkm Am§XmobZ Ho$ Xm¡amZ _hmË_m Jm§Yr 
Ho$ ZoV¥Ëd _| à{gÕ Xm§S>r _mM© Zo bJ^J Xÿar V` 
H$s Wr

	 (A)	 241 _rb

	 (B)	 400 {H$bmo{_Q>a

	 (C)	 200 {H$bmo_rQ>a

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 H-5.	 {H$g Agr[a`Z amOm Zo AnZr amOYmZr ZrZdo _|  
EH$ nwñVH$mb` EH${ÌV {H$`m Wm ?

	 (A)	 EgahX²XmoZ

	 (B)	 eë_oZogoa V¥Vr`

	 (C)	 Agwa~{Znmb (668-627 B©.ny.)

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 H-6.	 {d`VZm_r amîQ´>dmXr B{Vhmg _| 1930 _| `oZ 
~mB© {dÐmoh H$m Š`m _hËd Wm ?

	 (A)	 BgHo$ n[aUm_ñdê$n H$B© amîQ´>dmXr ZoVmAm| 
H$mo \$m§gr Xr JB©

	 (B)	 BgZo \«$m§{ggr Am¡n{Zdo{eH$ emgZ Ho$ 
{Ibm\$ geñÌ à{VamoY H$s ewê$AmV H$mo 
{MpÝhV {H$`m

	 (C)	 Bggo {d`V {_Ýh H$s ñWmnZm hþB©

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht
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	 H-7.	 The Tata Iron and Steel Company 
(TISCO) was established in which 
year, making it the first large-scale 
steel producer in India ?

	 (A)	 1907

	 (B)	 1875

	 (C)	 1857

	 (D)	 More than one of the above

	 (E)	 None of the above

	 H-8.	 How did World War I affect India’s 
trade balance ?

	 (A)	 It had no significant impact on 
India’s trade balance

	 (B)	 It resulted in a deficit in trade 
due to decreased exports

	 (C)	 It led to a surplus in trade due 
to increased exports

	 (D)	 More than one of the above

	 (E)	 None of the above

	 H-9.	 The Battle of Stalingrad, a turning 
point in World War II, took place 
between which two countries ?

	 (A)	 Italy and France

	 (B)	 United States and Japan

	 (C)	 Germany and Soviet Union

	 (D)	 More than one of the above

	 (E)	 None of the above

	H-10.	 Who was the first Viceroy and 
Governor General of India under 
Crown Rule ?

	 (A)	L ord Dalhousie

	 (B)	L ord Canning

	 (C)	L ord Minto

	 (D)	 More than one of the above

	 (E)	 None of the above

	H-11.	 Who was the ruler of India during 
the 7th century CE known for his 
patronage of Buddhism and support 
for cultural activities ?

	 (A)	 Harsha

	 (B)	 Ashoka the Great

	 (C)	 Chandragupta Mourya

	 (D)	 More than one of the above

	 (E)	 None of the above

	H-12.	 What are the Mula, Mashkat and 
Bolan ?

	 (A)	 Mountain Passes

	 (B)	 Cities in Kashmir

	 (C)	 Mountain Peaks

	 (D)	 More than one of the above

	 (E)	 None of the above
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	 H-7.	 Q>mQ>m Am`aZ E§S> ñQ>rb H$ånZr (Q>rñH$mo) H$s 

ñWmnZm {H$g df© hþB©, {Oggo ̀ h ̂ maV _| nhbr 

~‹S>o n¡_mZo na ñQ>rb CËnmXH$ ~Z JB© ?

	 (A)	 1907

	 (B)	 1875

	 (C)	 1857

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 H-8.	 àW_ {díd `wÕ Zo ^maV Ho$ ì`mnma g§VwbZ H$mo 

H¡$go à^m{dV {H$`m ?

	 (A)	 BgH$m ^maV Ho$ ì`mnma g§VwbZ na H$moB© 

_hËdnyU© à^md Zht n‹S>m

	 (B)	 {Z`m©V _| H$_r Ho$ H$maU ì`mnma _| KmQ>m 

hþAm

	 (C)	 Bggo {Z`m©V _| d¥{Õ Ho$ H$maU ì`mnma _| 

A{Yeof hþAm

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 H-9.	 ñQ>o{bZJ«mX H$s b‹S>mB© {ÛVr` {díd `wÕ _| EH$ 

_hËdnyU© _mo‹S>, {H$Z Xmo Xoem| Ho$ ~rM hþB© Wr ?

	 (A)	 BQ>br Am¡a \«$m§g

	 (B)	 g§`wŠV amÁ` A_o[aH$m Am¡a OmnmZ

	 (C)	 O_©Zr Am¡a gmo{d`V g§K

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	H-10.	 H«$mD$Z emgZ Ho$ VhV ̂ maV H$m nhbm dm`gam` 

Am¡a JdZ©a OZab H$m¡Z Wm ?

	 (A)	 bm°S>© S>mbhm¡Or

	 (B)	 bm°S>© H¡$qZJ

	 (C)	 bm°S>© q_Q>mo

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	H-11.	 7dt eVmãXr B©.ny. Ho$ Xm¡amZ ^maV H$m H$m¡Z 

emgH$ Wm Omo ~m¡Õ Y_© Ho$ g§ajU Am¡a 

gm§ñH¥${VH$ J{V{d{Y`m| Ho$ g_W©Z Ho$ {bE OmZm 

OmVm Wm ?

	 (A)	 hf©

	 (B)	 AemoH$ _hmZ

	 (C)	 MÝÐJwßV _m¡`©

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	H-12.	 _wbm, _íH$V Am¡a ~mobZ Š`m h¢ ?

	 (A)	 nd©Vr` Xa}

	 (B)	 H$í_ra Ho$ eha

	 (C)	 nd©V Mmo{Q>`m±

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht
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	H-13.	 The Tebhaga Movement in Bengal 
during the 1940s demanded

	 (A)	 Redistribution of surplus land 
among landless peasants

	 (B)	 Complete abolition of zamindari 
system

	 (C)	 A one-third share of crops to be 
given to sharecroppers

	 (D)	 More than one of the above

	 (E)	 None of the above

	H-14.	 Hitler’s autobiography, which outlined 

his political ideology and future plans 

for Germany, is titled

	 (A)	 The Communist Manifesto

	 (B)	 Das Kapital

	 (C)	 Mein Kampf

	 (D)	 More than one of the above

	 (E)	 None of the above

	H-15.	 On which Harappan site we find 

evidence of ploughed field ?

	 (A)	L othal (Gujarat)

	 (B)	 Kalibangan (Rajasthan)

	 (C)	 Banawali (Haryana)

	 (D)	 More than one of the above

	 (E)	 None of the above

	H-16.	 The Phulka Rebellion of 1816 in	
Punjab was led by

	 (A)	 Kharak Singh
	 (B)	 Banda Singh Bahadur
	 (C)	 Bhagat Singh
	 (D)	 More than one of the above
	 (E)	 None of the above

	H-17.	 Vernacular Press Act put serious 

restrictions on the freedom of the 

Indian language newspapers. In 

which year it was passed ?

	 (A)	 1885

	 (B)	 1878

	 (C)	 1880

	 (D)	 More than one of the above

	 (E)	 None of the above

	H-18.	 What was ‘YAM’ in reference to the 
Mongol Empire ?

	 (A)	 Courier System
	 (B)	 Technique of Storing Food
	 (C)	 Code of Law
	 (D)	 More than one of the above
	 (E)	 None of the above	

	H-19.	 The League of  Nations was		
established as a result of which 	
treaty ?

	 (A)	 Treaty of Trianon

	 (B)	 Treaty of Brest-Litovsk

	 (C)	 Treaty of Versailles 

	 (D)	 More than one of the above

	 (E)	 None of the above
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	H-13.	 1940 Ho$ XeH$ Ho$ Xm¡amZ ~§Jmb _| Vo^mJm 
Am§XmobZ Zo _m§J H$s

	 (A)	 ŷ{_hrZ {H$gmZm| Ho$ ~rM A{Yeof ̂ y{_ H$m 
nwZ{d©VaU

	 (B)	 O_tXmar àWm H$m nyU© CÝ_ybZ

	 (C)	 \$gb H$m EH$ {VhmB© {hñgm ~Q>mB©Xmam| H$mo 
{X`m OmEJm

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	H-14.	 {hQ>ba H$s AmË_H$Wm, {Og_| O_©Zr Ho$ {bE CZH$s 
amOZr{VH$ {dMmaYmam Am¡a ^{dî` H$s `moOZmAm| 
H$mo aoIm§{H$V {H$`m J`m h¡, H$m erf©H$ h¡

	 (A)	 H$å`w{ZñQ> KmofUmnÌ

	 (B)	 Xmg H¡${nQ>b

	 (C)	 _rZ H$må\$

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	H-15.	 {H$g h‹S>ßnm ñWb na h_| OwVo hþE IoV Ho$ gmú` 

{_bVo h¢ ?

	 (A)	 bmoWb (JwOamV)

	 (B)	 H$mbr~§JZ (amOñWmZ)

	 (C)	 ~Zmdbr (h[a`mUm)

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	H-16.	 n§Om~ _| 1816 Ho$ \w$ëH$m {dÐmoh H$m ZoV¥Ëd 
{H$`m J`m Wm

	 (A)	 I‹S>H$ qgh
	 (B)	 ~§Xm qgh ~hmXþa
	 (C)	 ^JV qgh
	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$
	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	H-17.	 dZm©Š`wba àog EŠQ> Zo ^maVr` ^mfmB©  

g_mMma-nÌm| H$s ñdV§ÌVm na J§^ra à{V~§Y 

bJm {XE & `h {H$g df© nm[aV {H$`m J`m Wm ?

	 (A)	 1885

	 (B)	 1878

	 (C)	 1880

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	H-18.	 _§Jmob gm_«mÁ` Ho$ g§X^© _| ‘`_’ Š`m Wm ?

	 (A)	 Hw$[a`a àUmbr

	 (B)	 ^moOZ ^§S>maU H$s VH$ZrH$

	 (C)	 H$mZyZ g§{hVm

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	H-19.	 amîQ´> g§K H$s ñWmnZm {H$g g§{Y Ho$ 	  
n[aUm_ñdê$n hþB© ?

	 (A)	 Q´>m`moZ H$s g§{Y

	 (B)	 ~«oñQ>-{bQ>modñH$ H$s g§{Y

	 (C)	 dgm©` H$s g§{Y

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht
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	H-20.	 Who is known as the ‘‘Father of 

Italian Unification’’ ?

	 (A)	 Giuseppe Mazzini

	 (B)	 Giuseppe Garibaldi

	 (C)	 Otto von Bismarck

	 (D)	 More than one of the above

	 (E)	 None of the above

	H-21.	 Who was the first Director of ASI ?

	 (A)	 R. D. Banerjee

	 (B)	 John Marshall

	 (C)	 Alexander Cunningham

	 (D)	 More than one of the above

	 (E)	 None of the above

	H-22.	 In Australia, what policy led to the 
systematic removal of Aboriginal 
children from their families ?

	 (A)	 Native Title Act

	 (B)	 Assimilation Policy

	 (C)	 White Australia Policy

	 (D)	 More than one of the above

	 (E)	 None of the above

	H-23.	 Which event served as a catalyst for 
the Khilafat Movement ?

	 (A)	 The Treaty of  Versailles

	 (B)	 The Partition of  Bengal

	 (C)	 The Jallianwala Bagh Massacre

	 (D)	 More than one of the above

	 (E)	 None of the above

	H-24.	 Who was the President of the Indian 

National Congress during the 

Lucknow Session of 1916 where the 

Congress-League Pact was signed ?

	 (A)	 Ambika Charan Mazumdar

	 (B)	 Bal Gangadhar Tilak

	 (C)	 Annie Besant

	 (D)	 More than one of the above

	 (E)	 None of the above

	H-25.	 The Tana Bhagat Movement, a 
nonviolent movement against British 
rule, originated among the tribal 
communities of which Indian State ?

	 (A)	 Uttar Pradesh

	 (B)	 Kerala

	 (C)	 Jharkhand

	 (D)	 More than one of the above

	 (E)	 None of the above

	H-26.	 The publication of the book ‘‘Poverty 
and Un-British Rule in India’’ by 
Dadabhai Naoroji in 1901 was 
instrumental in

	 (A)	 Advocating for the abolition of 
the caste system

	 (B)	 Highlighting the economic		
exploitation of India by British 
colonialism

	 (C)	 Propagating the idea of separate 
electorates for Muslims

	 (D)	 More than one of the above

	 (E)	 None of the above
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	H-20.	 ‘‘ BQ>br EH$sH$aU Ho$ OZH$’’ Ho$ ê$n _| {H$go 

OmZm OmVm h¡ ?

	 (A)	 ½`ygon _m{OZr

	 (B)	 ½`ygon J¡ar~mëS>r

	 (C)	 AmoQ>mo dm°Z {~ñ_mH©$

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	H-21.	 E.Eg.AmB©. Ho$ nhbo {ZXoeH$ H$m¡Z Wo ?

	 (A)	 Ama.S>r. ~ZOu

	 (B)	 Om°Z _me©b

	 (C)	 AboŠO|S>a H$qZK_

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	H-22.	 AmñQ´>o{b`m _|, {H$g Zr{V Ho$ H$maU Am{Xdmgr 
~ƒm| H$mo CZHo$ n[admam| go ì`dpñWV ê$n go 
{ZH$mbm J`m ?

	 (A)	 _yb erf©H$ A{Y{Z`_

	 (B)	 AmË_gmV² Zr{V

	 (C)	 ídoV AmñQ´>o{b`m Zr{V
	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$
	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	H-23.	 {H$g KQ>Zm Zo {Ibm\$V Am§XmobZ Ho$ {bE 
CËàoaH$ H$m H$m_ {H$`m ?

	 (A)	 dgm©` H$s g§{Y

	 (B)	 ~§Jmb H$m {d^mOZ

	 (C)	 O{b`m§dmbm ~mJ hË`mH$m§S>

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	H-24.	 1916 Ho$ bIZD$ gÌ Ho$ Xm¡amZ ^maVr` amîQ´>r` 
H$m§J«og Ho$ AÜ`j  H$m¡Z Wo, Ohm±  H$m§J«og-brJ 
g_Pm¡Vo na hñVmja {H$E JE Wo ?

	 (A)	 Apå~H$m MaU _Oy_Xma

	 (B)	 ~mb J§JmYa {VbH$

	 (C)	 EZr ~ogoÝQ>

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	H-25.	 VmZm ^JV Am§XmobZ, {~«{Q>e emgZ Ho$ {Ibm\$ 
EH$ AqhgH$ Am§XmobZ, {H$g ^maVr` amÁ` Ho$ 
Am{Xdmgr g_wXm`m| Ho$ ~rM CËnÝZ hþAm Wm ?

	 (A)	 CÎmaàXoe	

	 (B)	 Ho$ab

	 (C)	 PmaI§S>

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	H-26.	 1901 _| XmXm^mB© Zm¡amoOr H$s nwñVH$ ‘‘nmdQ>u 
E§S> AZ-{~«{Q>e ê$b BZ BpÊS>`m’’ Ho$ àH$meZ 
_| ghm`H$ ^y{_H$m {Z^mB© JB©

	 (A)	 Om{V ì`dñWm Ho$ CÝ_ybZ H$s dH$mbV 
H$aZm

	 (B)	 {~«{Q>e Cn{ZdoedmX Ûmam ̂ maV Ho$ Am{W©H$ 
emofU na àH$me S>mbZm

	 (C)	 _wgb_mZm| Ho$ {bE AbJ {Zdm©MZ joÌ Ho$ 
{dMma H$m àMma H$aZm

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht
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	H-27.	 The Royal Indian Navy Mutiny, also 
known as the Bombay Mutiny, took 
place in the year

	 (A)	 1946
	 (B)	 1942
	 (C)	 1930
	 (D)	 More than one of the above
	 (E)	 None of the above

	H-28.	 What impact did the railways have 
on Indian industries during the 
colonial period ?

	 (A)	 Encouraged entrepreneurship in 
remote areas

	 (B)	 Hindered industrial development 
by promoting imports

	 (C)	 Stimulated industrial growth by 
providing cheap transportation

	 (D)	 More than one of the above

	 (E)	 None of the above

	H-29.	 Which British policy during the First 
World War aimed to suppress dissent 
and curtail civil liberties in India ?

	 (A)	 Simon Commission
	 (B)	 Government of India Act
	 (C)	 Rowlatt Act
	 (D)	 More than one of the above
	 (E)	 None of the above

	H-30.	 Which event marked the beginning 
of the League of Nations’ decline in 
influence and authority ?

	 (A)	 The outbreak of World War II
	 (B)	 The Italian invasion of Abyssinia
	 (C)	 The invasion of Manchuria by	

Japan
	 (D)	 More than one of the above
	 (E)	 None of the above

	H-31.	 What was the Prakrit name of	  	

Magadh’s capital Rajgir ?

	 (A)	 Rajagraha

	 (B)	 Grahraj

	 (C)	 Pataliputra

	 (D)	 More than one of the above

	 (E)	 None of the above

	H-32.	 Who founded the newspaper ‘‘ The 
Hindu’’ in 1878, which became 
influential in shaping public opinion 
during the Indian national movement ?

	 (A)	 Viraraghavachariar

	 (B)	 G. Subramania Iyer

	 (C)	 Mahatma Gandhi

	 (D)	 More than one of the above

	 (E)	 None of the above

	H-33.	 The publication of which influential 

pamphlet by Thomas Paine in 1776 

helped to galvanize support for 

independence among the American 

colonists ?

	 (A)	 ‘‘Declaration of Independence’’

	 (B)	 ‘‘The Federalist Papers’’

	 (C)	 ‘‘Common Sense’’

	 (D)	 More than one of the above

	 (E)	 None of the above
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	H-27.	 am°`b B§{S>`Z Zodr {dÐmoh, {Ogo ~m°å~o {dÐmoh Ho$ 
Zm_ go ^r OmZm OmVm h¡, {H$g df© _| hþAm Wm ?

	 (A)	 1946
	 (B)	 1942
	 (C)	 1930
	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$
	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	H-28.	 Am¡n{Zdo{eH$ H$mb Ho$ Xm¡amZ aobdo H$m ^maVr` 
CÚmoJm| na Š`m à^md n‹S>m ?

	 (A)	 XÿaXamO Ho$ joÌm| _| CX`{_Vm H$mo àmoËgm{hV 
{H$`m J`m

	 (B)	 Am`mV H$mo ~‹T>mdm XoH$a Am¡Úmo{JH$ {dH$mg 
_| ~mYm S>mbr

	 (C)	 gñVm n[adhZ àXmZ H$aHo$ Am¡Úmo{JH$ 
{dH$mg H$mo ~‹T>mdm {X`m

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$
	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	H-29.	 àW_ {díd `wÕ Ho$ Xm¡amZ {H$g {~«{Q>e Zr{V 
H$m CX²Xoí` ^maV _| Agh_{V H$mo X~mZm Am¡a 
ZmJ[aH$ ñdV§ÌVm H$mo H$_ H$aZm Wm ?

	 (A)	 gmB_Z H$_reZ

	 (B)	 ^maV gaH$ma A{Y{Z`_

	 (C)	 am¡boQ> EŠQ>

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	H-30.	 {H$g KQ>Zm go amîQ´> g§K Ho$ à^md Am¡a A{YH$ma 
_| {JamdQ> H$s ewê$AmV hþB© ?

	 (A)	 {ÛVr` {díd`wÕ H$m àH$mon

	 (B)	 E{~{g{Z`m na BVmbdr AmH«$_U

	 (C)	 OmnmZ Ûmam _§My[a`m na AmH«$_U

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	H-31.	 _JY H$s amOYmZr amOJra H$m àmH¥$V Zm_  

Š`m Wm ?

	 (A)	 amOJ¥h

	 (B)	 J«hamO

	 (C)	 nmQ>{bnwÌ

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	H-32.	 1878 _| ‘‘X {hÝXÿ’’ AI~ma H$s ñWmnZm {H$gZo 
H$s, Omo ^maVr` amîQ´>r` Am§XmobZ Ho$ Xm¡amZ 
OZ_V H$mo AmH$ma XoZo _| à^mdembr ahm ?

	 (A)	 draamKdmMm`©

	 (B)	 Or. gw~«_Ê`_ Aæ`a

	 (C)	 _hmË_m Jm§Yr

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	H-33.	 1776 _| Wm°_g noZ Ûmam {H$g à^mdembr 
n¡å\$boQ> Ho$ àH$meZ Zo A_o[aH$s Cn{Zdoedm{X`m| 
Ho$ ~rM ñdV§ÌVm Ho$ {bE g_W©Z OwQ>mZo _| _XX 
H$s ?

	 (A)	 ‘‘ ñdV§ÌVm H$s KmofUm’’

	 (B)	 ‘‘X \¡$S>oa{bñQ> nong©’’

	 (C)	 ‘‘gm_mÝ` kmZ’’

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht
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	H-34.	 The Revolutions of 1848 in Europe 
were primarily driven by demands 
for

	 (A)	 Religious freedom and tolerance

	 (B)	 Economic equality and socialism

	 (C)	 Political reforms and democracy

	 (D)	 More than one of the above

	 (E)	 None of the above

	H-35.	 Who founded the ‘‘Revolutionary 
Society’’ in 1904, which aimed at 
armed revolution against British 
rule ?

	 (A)	L ala Hardayal

	 (B)	 Vinayak Damodar Savarkar

	 (C)	 Bipin Chandra Pal

	 (D)	 More than one of the above

	 (E)	 None of the above

	H-36.	 Wood’s Despatch of 1854 was	  
associated with

	 (A)	 Establishment of Universities in 
India

	 (B)	 Modern Education

	 (C)	 Social Reforms

	 (D)	 More than one of the above

	 (E)	 None of the above

	H-37.	 Which ancient Indian text, composed 
during the later Vedic period, contains 
philosophical hymns and discussions 
on cosmology and ethics ?

	 (A)	 Yajurveda

	 (B)	 Upanishads

	 (C)	 Rigveda

	 (D)	 More than one of the above

	 (E)	 None of the above

	H-38.	 The first cotton textile mill in India 
was established in which year ?

	 (A)	 1861

	 (B)	 1818

	 (C)	 1854

	 (D)	 More than one of the above

	 (E)	 None of the above

	H-39.	 What was the slogan of the Bolsheviks 
during the 1917 Revolution ?

	 (A)	 ‘‘Workers of the World, Unite!’’
	 (B)	 ‘‘Liberty, Equality, Fraternity’’
	 (C)	 ‘‘Peace, Land, Bread’’
	 (D)	 More than one of the above
	 (E)	 None of the above

	H-40.	 Which tribal leader was involved in 
the tribal uprising against the British 
authorities in the Garo Hills region 
of present day Meghalaya during the 
late 19th century ?

	 (A)	 Tikendrajit Singh
	 (B)	 Jadunath Sharma
	 (C)	 Rani Gaidinliu
	 (D)	 More than one of the above

	 (E)	 None of the above
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	H-34.	 `yamon _| 1848 H$s H«$m§{V`m± _w»`V: {ZåZ _m§Jm| 

go ào[aV Wt

	 (A)	 Ym{_©H$ ñdV§ÌVm Am¡a g{hîUwVm

	 (B)	 Am{W©H$ g_mZVm Am¡a g_mOdmX

	 (C)	 amOZr{VH$ gwYma Am¡a bmoH$V§Ì

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	H-35.	 1904 _| ‘‘[admoë`weZar gmogm`Q>r’’ H$s ñWmnZm 

{H$gZo H$s, {OgH$m  CX²Xoí` {~«{Q>e emgZ Ho$ 

{déÕ geñÌ H«$m§{V H$aZm Wm ?

	 (A)	 bmbm haX`mb

	 (B)	 {dZm`H$ Xm_moXa gmdaH$a

	 (C)	 {~{nZ M§Ð nmb

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	H-36.	 1854 H$m dwS> {S>ñn¡M {H$ggo gå~pÝYV Wm ?

	 (A)	 ^maV _| {díd{dÚmb`m| H$s ñWmnZm

	 (B)	 AmYw{ZH$ {ejm

	 (C)	 gm_m{OH$ gwYma

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	H-37.	 CÎma d¡{XH$ H$mb Ho$ Xm¡amZ a{MV {H$g àmMrZ 
^maVr` J«§W _| Xme©{ZH$ ^OZ Am¡a ~«÷mÊS> 
{dkmZ Am¡a Z¡{VH$Vm na MMm©E± em{_b h¢ ?

	 (A)	 `Owd}X

	 (B)	 Cn{ZfX²

	 (C)	 F$½doX

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	H-38.	 ^maV _| nhbr gyVr H$n‹S>m {_b {H$g df© 
ñWm{nV H$s JB© Wr ? 

	 (A)	 1861

	 (B)	 1818

	 (C)	 1854

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	H-39.	 1917 H$s H«$m§{V Ho$ Xm¡amZ ~moëeo{dH$m| H$m Zmam 
Š`m Wm ?

	 (A)	 ‘‘Xþ{Z`m Ho$ _OXÿam| EH$ hmo OmAmo!’’

	 (B)	 ‘‘ñdV§ÌVm, g_mZVm, ^mB©Mmam’’

	 (C)	 ‘‘em§{V, ^y{_, amoQ>r’’

	 (D)	 CnamoŠV _| go EH$ go A{YH$

	 (E)	 CnamoŠV _| go H$moB© Zht

	H-40.	 19dt gXr Ho$ A§V _| dV©_mZ _oKmb` Ho$ Jmamo 
{hëg joÌ _| {~«{Q>e A{YH$m[a`m| Ho$ {Ibm\$ 
Am{Xdmgr {dÐmoh _| H$m¡Z-gm Am{Xdmgr ZoVm 
em{_b Wm ?

	 (A)	 {Q>Ho$ÝÐOrV  qgh

	 (B)	 OXþZmW e_m©

	 (C)	 amZr JmB{XÝë`y

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht
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	 G-1.	 Which state is the first in India 

who has made roof top rainwater 

harvesting structure legally 

compulsory to all houses ?

	 (A)	 Haryana

	 (B)	 Rajasthan

	 (C)	 Tamil nadu

	 (D)	 More than one of the above

	 (E)	 None of the above

	 G-2.	 What is the length of National Water 

way No. 2 between Sadiya and 

Dhubri ?

	 (A)	 1078 km

	 (B)	 1620 km

	 (C)	 1205 km

	 (D)	 More than one of the above

	 (E)	 None of the above

	 G-3.	 Bennur having the evidences of 

sophisticated irrigation works was 

located in

	 (A)	 Karnataka

	 (B)	 Maharashtra

	 (C)	 Odisha

	 (D)	 More than one of the above

	 (E)	 None of the above

PART – III
(Geography)

	 G-4.	 The Kumaon Himalayas is located 

between 

	 (A)	 Ramganga and Kali rivers

	 (B)	 Satluj and Ramganga rivers

	 (C)	 Satluj and kali rivers

	 (D)	 More than one of the above

	 (E)	 None of the above

	 G-5.	 Which of the following states is 

known for bamboo drip irrigation 

system ?

	 (A)	 Meghalaya

	 (B)	 Jharkhand

	 (C)	 Assam

	 (D)	 More than one of the above

	 (E)	 None of the above

	 G-6.	 The konkan railway along the west 

coast of India faces the problem of

	 (A)	 Tsunami

	 (B)	L andslide

	 (C)	 Sinking of track

	 (D)	 More than one of the above

	 (E)	 None of the above
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PART – III
(Geography)

	 G-1.	 ^maV _| Eogm H$m¡Z-gm àW_ amÁ` h¡, {OgZo 

g^r Kam| Ho$ {bE N>V na dfm© Ob g§M`Z H$mo 

H$mZyZr ê$n go A{Zdm`© ~Zm {X`m h¡ ?

	 (A)	 h[a`mUm Zo

	 (B)	 amOñWmZ Zo

	 (C)	 V{_bZmSy> Zo

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 G-2.	 g{X`m Am¡a Yw~ar Ho$ _Ü` amîQ´>r` Ob_mJ© 

g§»`m 2 H$s bå~mB© {H$VZr h¡ ?

	 (A)	 1078 H$s._r.

	 (B)	 1620 H$s._r.

	 (C)	 1205 H$s._r.

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 G-3.	 ~oÝZya Ohm± AË`mYw{ZH$ qgMmB© H$m`m] Ho$ gmú` 

{_bo h¡, H$hm§ na pñWV h¡ ?

	 (A)	 H$Zm©Q>H$ _|

	 (B)	 _hmamîQ´> _|

	 (C)	 Amo{S>em _|

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 G-4.	 Hw$_mD±$ {h_mb` {ZåZ{b{IV _| go {H$gHo$ _Ü` 

pñWV h¡ ?

	 (A)	 am_J§Jm d H$mbr ZXr

	 (B)	 gVbwO d am_J§Jm ZXr

	 (C)	 gVbwO d H$mbr ZXr

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 G-5.	 {ZåZ{b{IV _| go H$m¡Z-gm amÁ` ~m§g {S´>n 

qgMmB© àUmbr Ho$ {bE OmZm OmVm h¡ ?

	 (A)	 _oKmb`

	 (B)	 PmaI§S>

	 (C)	 Ag_

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 G-6.	 ^maV Ho$ npíM_r VQ> na pñWV H$m|H$U aoëdo H$mo 

{H$g g_ñ`m H$m gm_Zm H$aZm n‹S>Vm h¡ ?

	 (A)	 gwZm_r H$m

	 (B)	 ^yñIbZ H$m

	 (C)	 Q´>¡H$ H$m Y±gZm

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht
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	 G-7.	 The Betwa river flows from

	 (A)	 South-west to North-east

	 (B)	 West to East

	 (C)	 North to South

	 (D)	 More than one of the above

	 (E)	 None of the above

	 G-8.	 What is the average annual rainfall 

in Bihar ?

	 (A)	 100 – 200 cm

	 (B)	 200 – 400 cm

	 (C)	 60 – 100 cm

	 (D)	 More than one of the above

	 (E)	 None of the above

	 G-9.	 What is the length of Hazira-Vijaipur-

Jagdishpur gas pipeline ?

	 (A)	 1850 km

	 (B)	 1625 km

	 (C)	 1700 km

	 (D)	 More than one of the above

	 (E)	 None of the above

	G-10.	 Kawar lake is located in which 

district of Bihar ?

	 (A)	 Nawada

	 (B)	 Sheohar

	 (C)	 Gopalganj

	 (D)	 More than one of the above

	 (E)	 None of the above

	G-11.	 The Pitti an uninhabited island is 

known for

	 (A)	 Bird sanctuary

	 (B)	 Asiatic lion

	 (C)	 Mangrove Forest

	 (D)	 More than one of the above

	 (E)	 None of the above
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	 G-7.	 ~oVdm ZXr {ZåZ{b{IV _| go {H$g {Xem _| 

~hVr h¡ ?

	 (A)	 X{jU npíM_ go CÎma nyd© H$s Amoa

	 (B)	 npíM_ go nyd© H$s Amoa

	 (C)	 CÎma go X{jU H$s Amoa

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 G-8.	 {~hma _| Am¡gV dm{f©H$ dfm© {H$VZr hmoVr h¡ ?

	 (A)	 100 – 200 g|._r.

	 (B)	 200 – 400 g|._r.

	 (C)	 60 – 100 g|._r.

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 G-9.	 hOram-{dO`nwa-OJXrenwa J¡g nmBnbmBZ H$s 

bå~mB© {H$VZr h¡ ?

	 (A)	 1850 {H$._r.

	 (B)	 1625 {H$._r.

	 (C)	 1700 {H$._r.

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	G-10.	 H$mda Prb {~hma Ho$ {H$g {Obo _| pñWV h¡ ?

	 (A)	 ZdmXm _|

	 (B)	 {edha _|

	 (C)	 JmonmbJ§O _|

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	G-11.	 {n{Å> Ûrn, Ohm± _Zwî` H$m {Zdmg Zht h¡, {H$gHo$ 

{bE OmZm OmVm h¡ ?

	 (A)	 njr-A^`maÊ`

	 (B)	 E{e`mB© eoa

	 (C)	 _¢J«mod dZ

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht
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	G-12.	 Bhimabandh wildlife sanctuary is 

located in which district of Bihar ?

	 (A)	 Supaul

	 (B)	 Munger

	 (C)	 Gaya

	 (D)	 More than one of the above

	 (E)	 None of the above

	G-13.	 Which of the following comprises of 

purvachal ?

	 (A)	 The Jaintia Hills

	 (B)	 The Khasi Hills

	 (C)	 The Garo Hills

	 (D)	 More than one of the above

	 (E)	 None of the above

	G-14.	 Which district of Rajasthan is 

		  majorly known for mica production ?

	 (A)	 Ajmer

	 (B)	 Khetri

	 (C)	 Bhratpur

	 (D)	 More than one of the above

	 (E)	 None of the above

	G-15.	 The longitudinal valley lying between 

lesser Himalaya and the Shiwaliks 

are known as

	 (A)	 Dissected valley

	 (B)	 Dwars

	 (C)	 Duns

	 (D)	 More than one of the above

	 (E)	 None of the above

	G-16.	 The phase – I of Ganga Action plan 

was initiated in the year

	 (A)	 1995

	 (B)	 2000

	 (C)	 1985

	 (D)	 More than one of the above

	 (E)	 None of the above
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	G-12.	 ^r_m~§Y dÝ`Ord A^`maÊ` {~hma Ho$ {H$g 

{Obo _| pñWV h¡ ?

	 (A)	 gwnm¡b _|

	 (B)	 _w§Joa _|

	 (C)	 J`m _|

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	G-13.	 {ZåZ{b{IV _| go H$m¡Z-gm joÌ nydm©Mb _| 

em{_b h¡ ?

	 (A)	 O`pÝV`m nhm{S>`m±

	 (B)	 Imgr nhm{S>`m±

	 (C)	 Jmamo nhm{S>`m±

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	G-14.	 amOñWmZ H$m H$m¡Z-gm {Obm _w»`V: A^«H$ 

CËnmXZ Ho$ {bE OmZm OmVm h¡ ?

	 (A)	 AO_oa

	 (B)	 IoV‹S>r

	 (C)	 ^aVnwa

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	G-15.	 {ZåZ {h_mMb VWm {edm{bH$ Ho$ ~rM _| pñWV 

b§~dV² KmQ>r H$mo {H$g Zm_ go OmZm OmVm h¡ ?

	 (A)	 H$Q>r-\$Q>r KmQ>r

	 (B)	 Ûma

	 (C)	 XÿZ

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	G-16.	 J§Jm EŠeZ ßbmZ H$m àW_ MaU {H$g df© _| 

àmaå^ {H$`m J`m Wm ?

	 (A)	 1995 _|

	 (B)	 2000 _|

	 (C)	 1985 _|

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht
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	G-17.	 Arabica variety of coffee was initially 

introduced for cultivation in which 

hills ?

	 (A)	 Anamalai Hills

	 (B)	 Baba Budan Hills

	 (C)	 Nilgiri Hills

	 (D)	 More than one of the above

	 (E)	 None of the above

	G-18.	 The coarse alluvial soils are most 

commonly found in 

	 (A)	 Duns

	 (B)	 Terai

	 (C)	 Chos

	 (D)	 More than one of the above

	 (E)	 None of the above

	G-19.	 How many railway zones are there in 

India ?

	 (A)	 12

	 (B)	 16

	 (C)	 10

	 (D)	 More than one of the above

	 (E)	 None of the above

	G-20.	 Which of the following are major 

cotton producing states ?

	 (A)	 Gujarat, Karnataka, Madhya 

Pradesh

	 (B)	 Maharashtra, Punjab, Haryana

	 (C)	 Gujarat, Telangana, Punjab

	 (D)	 More than one of the above

	 (E)	 None of the above

	G-21.	 Which of the following ranges is the 

longest one in the lesser Himalaya ?

	 (A)	 Pir Panjal range

	 (B)	 Mahabharat range

	 (C)	 Dhaula Dhar range

	 (D)	 More than one of the above

	 (E)	 None of the above

	G-22.	 Bihar’s major sugarcane producing 

district is

	 (A)	 Darbhanga

	 (B)	 Champaran

	 (C)	 Saran

	 (D)	 More than one of the above

	 (E)	 None of the above
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	G-17.	 {ZåZ{b{IV _| go {H$Z nhm{S>`m| _| H$m°\$s H$s 

Aao{~H$m {H$ñ_ H$mo Amapå^H$ Vm¡a na ewé {H$`m 

J`m Wm ?

	 (A)	 AÝZm_bmB© H$s nhm{S>`m±

	 (B)	 ~m~m ~wXoZ H$s nhm{S>`m±

	 (C)	 Zrb{Jar H$s nhm{S>`m±

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	G-18.	 _moQ>o H$Um| dmbr Obmo‹T> {_Å>r g~go A{YH$ H$hm§ 

nmB© OmVr h¡ ?

	 (A)	 XÿZ _|

	 (B)	 VamB© _|

	 (C)	 Mmog _|

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	G-19.	 ^maV _| {H$VZr aoëdo OmoZ h¢ ?

	 (A)	 12

	 (B)	 16

	 (C)	 10

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	G-20.	 {ZåZ{b{IV _| go H$m¡Z-go à_wI H$nmg CËnmXH$ 

amÁ` h¢ ?

	 (A)	 JwOamV, H$Zm©Q>H$, _Ü`àXoe

	 (B)	 _hmamîQ´>, n§Om~, h[a`mUm

	 (C)	 JwOamV, Vob§JmZm, n§Om~

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	G-21.	 {ZåZ{b{IV _| go H$m¡Z-gr ûm§¥Ibm {ZåZ 

		  {h_mb` _| g~go bå~r h¡ ?

	 (A)	 nra n§Omb ûm§¥Ibm

	 (B)	 _hm^maV ûm§¥Ibm

	 (C)	 Ym¡bmYma ûm§¥Ibm 

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	G-22.	 {~hma H$m à_wI JÝZm CËnmXH$ {Obm H$m¡Z-gm 

h¡ ?

	 (A)	 Xa^§Jm

	 (B)	 MånmaU

	 (C)	 gmaZ

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht



11/MIV/M–2024–06/I	 48	

	G-23.	 The Mahanadi drainage basin is 

shared by

	 (A)	 Karnataka

	 (B)	 Jharkhand

	 (C)	 Chhattisgarh

	 (D)	 More than one of the above

	 (E)	 None of the above

	G-24.	 Diversion channels in western 

		  Himalayas are known as

	 (A)	 Khadin

	 (B)	 Guls

	 (C)	 Palar pani

	 (D)	 More than one of the above

	 (E)	 None of the above

	G-25.	 According to Thornthwaite climatic 

classification eastern Bihar 

represents which type of climate ?

	 (A)	 Moist sub-humid

	 (B)	 Monsoon with aridity

	 (C)	 Semi-arid

	 (D)	 More than one of the above

	 (E)	 None of the above

	G-26.	 In India, Vembanad Lake is located in

	 (A)	 Kerala

	 (B)	 Odisha

	 (C)	 Rajasthan

	 (D)	 More than one of the above

	 (E)	 None of the above

	G-27.	 Which of the following is a landlocked 

port ?

	 (A)	 Paradwip

	 (B)	 Vishakhapatnam

	 (C)	 Tuticorin

	 (D)	 More than one of the above

	 (E)	 None of the above

	G-28.	 What is the percentage share of 

Bihar’s population in the total 

population of India according to 

2011 census ?

	 (A)	 9.42 percent

	 (B)	 7.80 percent

	 (C)	 7.41 percent

	 (D)	 More than one of the above

	 (E)	 None of the above
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	G-23.	 _hmZXr H$m Ob V§Ì {ZåZ{b{IV _| go {H$Z 

amÁ`m| _| \¡$bm hþAm h¡ ?

	 (A)	 H$Zm©Q>H$ _|

	 (B)	 PmaI§S> _|

	 (C)	 N>ÎmrgJT> _|

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	G-24.	 npíM_r {h_mb` _| ZXr H$s Ymam H$m amñVm 

~XbZo dmbr dm{hH$mAm| H$mo {H$g Zm_ go 

OmZm OmVm h¡ ?

	 (A)	 ImXrZ

	 (B)	 Jwb

	 (C)	 nmba nmZr

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	G-25.	 Wm°Z©WdoQ> Ho$ Obdm`w dJuH$aU Ho$ AZwgma nydu 

{~hma {H$g àH$ma H$s Obdm`w H$m à{V{Z{YËd 

H$aVm h¡ ?

	 (A)	 Z_ Cn-AmÐ©

	 (B)	 ewîH$Vm Ho$ gmW _mZgyZ

	 (C)	 AY©-ewîH$

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	G-26.	 doå~Zm‹S> Prb ^maV Ho$ {ZåZ{b{IV _| go {H$g 

amÁ` _| h¡ ?

	 (A)	 Ho$ab

	 (B)	 Amo{S>em

	 (C)	 amOñWmZ

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	G-27.	 {ZåZ{b{IV _| go H$m¡Z-gm ~§XaJmh ñWbéÕ h¡ ?

	 (A)	 nmamXrn

	 (B)	 {demImnÅ>Z_

	 (C)	 VyVrH$mo[aZ

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	G-28.	 2011 H$s OZJUZm Ho$ AZwgma ^maV H$s Hw$b 

OZg§»`m _| {~hma H$s OZg§»`m {H$VZo à{VeV 

h¡ ?

	 (A)	 9.42 à{VeV

	 (B)	 7.80 à{VeV

	 (C)	 7.41 à{VeV

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht
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	G-29.	 Which city is located on the water 

divide between the Indus and the 

Ganga river systems ?

	 (A)	 Patiala

	 (B)	 Ambala

	 (C)	 Chandigarh

	 (D)	 More than one of the above

	 (E)	 None of the above

	G-30.	 The major mineral produced at katni 

is

	 (A)	 Manganese

	 (B)	 Bauxite

	 (C)	 Mica

	 (D)	 More than one of the above

	 (E)	 None of the above

	G-31.	 When the Laccadive, Minicoy and 

Amindive were named as Lakshdweep ?

	 (A)	 1975

	 (B)	 1973

	 (C)	 1990

	 (D)	 More than one of the above

	 (E)	 None of the above

	G-32.	 The central stretch of the western 

coast is known as

	 (A)	 Kannad plain

	 (B)	 Malabar coast

	 (C)	 Konkan coast

	 (D)	 More than one of the above

	 (E)	 None of the above

	G-33.	 Which is the largest bauxite producing 

state in India ?

	 (A)	 Tamil nadu

	 (B)	 Karnataka

	 (C)	 Bihar

	 (D)	 More than one of the above

	 (E)	 None of the above

	G-34.	 ‘Rat Hole’ mining is done in which 

state of India ?

	 (A)	 Arunachal Pradesh

	 (B)	 Nagaland

	 (C)	 Assam

	 (D)	 More than one of the above

	 (E)	 None of the above
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	G-29.	 {ZåZ{b{IV _| go H$m¡Z-gm eha {gÝYw d J§Jm 

ZXr àUm{b`m| Ho$ Ob {d^mOH$ na pñWV h¡ ?

	 (A)	 n{Q>`mbm

	 (B)	 Aå~mbm

	 (C)	 MÊS>rJT>

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	G-30.	 H$Q>Zr _| CËnm{XV à_wI I{ZO H$m¡Z-gm h¡ ?

	 (A)	 _¢JZrO

	 (B)	 ~mŠgmBQ>

	 (C)	 A^«H$

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	G-31.	 H$~ bH$mXrd, _rZrH$m` VWm E_rZXrd H$m Zm_ 

~XbH$a bjÛrn aIm J`m ?

	 (A)	 1975

	 (B)	 1973

	 (C)	 1990

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	G-32.	 npíM_r VQ> H$m _Ü` ^mJ {H$g Zm_ go OmZm 

OmVm h¡ ?

	 (A)	 H$ÝZ‹S> _¡XmZ

	 (B)	 _mbm~ma VQ>

	 (C)	 H$m|H$U VQ>

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	G-33.	 ^maV _| ~mŠgmBQ> H$m g~go ~S>m CËnmXH$ amÁ` 

H$m¡Z-gm h¡ ?

	 (A)	 V{_bZmSy>

	 (B)	 H$Zm©Q>H$

	 (C)	 {~hma

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	G-34.	 ‘ aoQ> hmob ’ IZZ ^maV Ho$ {H$g amÁ` _| {H$`m 

OmVm h¡ ?

	 (A)	 AéUmMb àXoe

	 (B)	 ZmJmb¢S>

	 (C)	 Ag_

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht
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	G-35.	 Where was the first cement plant 

was set up in 1904 in india ?

	 (A)	 Hooghli

	 (B)	 Mumbai

	 (C)	 Chennai

	 (D)	 More than one of the above

	 (E)	 None of the above

	G-36.	 What was the percentage decadal 

growth of population in Bihar during 

2001 – 2011 ?

	 (A)	 22.34 percent

	 (B)	 28.62 percent

	 (C)	 25.07 percent

	 (D)	 More than one of the above

	 (E)	 None of the above

	G-37.	 Which of the following tributaries of 

Indus join it in Kashmir region ?

	 (A)	 The Shyok

	 (B)	 The Hunza

	 (C)	 The Nubra

	 (D)	 More than one of the above

	 (E)	 None of the above

	G-38.	 The Malwa plateau pertain to

	 (A)	 The Chotanagpur plateau

	 (B)	 The Deccan plateau

	 (C)	 The Central Highland 

	 (D)	 More than one of the above

	 (E)	 None of the above

	G-39.	 Which state passed the first 

resolution for joint forest 

management ? 

	 (A)	 Tamil Nadu

	 (B)	 Odisha

	 (C)	 Bihar

	 (D)	 More than one of the above

	 (E)	 None of the above

	G-40.	 Badampahar iron ore mine is located 

in

	 (A)	 Durg and Bastar districts

	 (B)	 Gua and Noamundi districts

	 (C)	 Mayurbhanj and Kendujhar 

districts

	 (D)	 More than one of the above

	 (E)	 None of the above
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	G-35.	 ^maV _| gZ² 1904 _| àW_ {g_|Q> CÚmoJ g§`§Ì 

H$hm± ñWm{nV {H$`m J`m Wm ?

	 (A)	 hþJbr _|

	 (B)	 _wå~B© _|

	 (C)	 MoÝZB© _|

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	G-36.	 2001 – 2011 Ho$ _Ü` {~hma _| OZg§»`m H$s 

XeH$s` d¥{Õ Xa {H$VZo à{VeV Wr ?

	 (A)	 22.34 à{VeV

	 (B)	 28.62 à{VeV

	 (C)	 25.07 à{VeV

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	G-37.	 {ZåZ{b{IV _| go H$m¡Z-gr {gÝYw ZXr H$s 

ghm`H$ ZXr H$í_ra joÌ _| {_bVr h¡ ?

	 (A)	 í`moH$

	 (B)	 hþ§Om

	 (C)	 Zy~am

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	G-38.	 _mbdm H$m nR>ma H$m gå~ÝY {H$ggo h¡ ?

	 (A)	 N>moQ>m ZmJnwa nR>ma go

	 (B)	 XŠH$Z H$m nR>ma go

	 (C)	 _Ü` CÀM ^y{_ go

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	G-39.	 g§`wŠV dZ à~§YZ Ho$ {bE àW_ àñVmd {H$g 

amÁ` Zo nm[aV {H$`m Wm ?

	 (A)	 V{_bZmSy> Zo

	 (B)	 Amo{S>em Zo

	 (C)	 {~hma Zo

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	G-40.	 ~mXm_nhm‹S> bm¡h A`ñH$ H$s ImZ H$hm± pñWV 

h¡ ?

	 (A)	 XþJ© d ~ñVa {Obm| _|

	 (B)	 JwAm d Zmo_wÊS>r {Obm| _|

	 (C)	 _`ya^§O d H|$XÿPa {Obm| _|

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht
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PART – III
(economics)

	 E-1.	 Which state has made roof top 

rainwater harvesting structure 

compulsory to all houses across the 

state ?

	 (A)	 Kerala

	 (B)	 Tamil Nadu

	 (C)	 Karnataka

	 (D)	 More than one of the above

	 (E)	 None of the above

	 E-2.	 Extensive planting of a single 

commercially valuable species is 

called 

	 (A)	 enrichment plantation

	 (B)	 mixed farming

	 (C)	 Intensive subsistence farming

	 (D)	 More than one of the above

	 (E)	 None of the above

	 E-3.	 The government of India has target 
of food grain production for the 
2023-24 crop year is

	 (A)	 401 million tonnes

	 (B)	 332 million tonnes

	 (C)	 245 million tonnes

	 (D)	 More than one of the above

	 (E)	 None of the above

	 E-4.	 Which of the following does not play 

in connecting people globally ?

	 (A)	 satellite broadcasting

	 (B)	 internet

	 (C)	 companies

	 (D)	 More than one of the above

	 (E)	 None of the above

	 E-5.	 Which of the following is not true 

about lead pipes ?

	 (A)	L ead pipes are highly resistant 

to corrosion

	 (B)	 They have a low hydraulic	   

co-efficient of flow

	 (C)	L ead pipes are highly flexible

	 (D)	 More than one of the above

	 (E)	 None of the above
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PART – III
(economics)

	 E-1.	 {H$g àXoe Zo g^r Kamo§ _| N>V na dfm© Ob g§M`Z 

g§aMZm H$mo àXoe _| A{Zdm ©̀ H$a {X`m J`m h¡ ?

	 (A)	 Ho$ab

	 (B)	 V{_bZmSw>

	 (C)	 H$Zm©Q>H$

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 E-2.	 {H$gr EH$ ì`mdgm{`H$ ê$n go _yë`dmZ àOm{V Ho$ 

ì`mnH$ amonU H$mo H$hm OmVm h¡ 

	 (A)	 g§dY©Z d¥jmamonU

	 (B)	 {_{lV H¥${f

	 (C)	 JhZ {Zdm©h IoVr

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 E-3.	 ^maV gaH$ma Zo 2023-24 Ho$ {b`o AÝZ 
CËnmXZ H$m bú` V` {H$`m h¡ 

	 (A)	 401 {_{b`Z Q>Z

	 (B)	 332 {_{b`Z Q>Z

	 (C)	 245 {_{b`Z Q>Z

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 E-4.	 {ZåZ{b{IV _| go H$m¡Z-gm {díd ñVa na bmoJm| 

H$mo Omo‹S>Zo _| ^y{_H$m Zht {Z^mVm h¡ ?

	 (A)	 CnJ«h àgmaU

	 (B)	 B§Q>aZoQ>

	 (C)	 H$ån{Z`m±

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 E-5.	 brS >nmB©n Ho$ ~mao _| {ZåZ{b{IV _| go H$m¡Z-gm 

gË` Zht h¡ ?

	 (A)	 brS> nmB©n Cƒ O§J à{VamoYr hmoVo h¡

	 (B)	 CZHo$ nmg àdmh H$m hmBS´>mo{bH$ JwUm§H$ 

H$_ h¡

	 (C)	 brS> nmB©n AË`{YH$ bmoMXma hmoVo h¢

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht
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	 E-6.	 The Asian Cheetah was declared 

extinct in India in the year 

	 (A)	 1965

	 (B)	 1960

	 (C)	 1950

	 (D)	 More than one of the above

	 (E)	 None of the above

	 E-7.	 Which of the following is a	  

disadvantage of Hydro power ?

	 (A)	 They are an unstable source of 

energy

	 (B)	 They cause deforestation and 

affect wildlife

	 (C)	 They cause harmful emissions

	 (D)	 More than one of the above

	 (E)	 None of the above

	 E-8.	 The name of first artificial satellite 

was 

	 (A)	 Rohini

	 (B)	 Bhaskar

	 (C)	 Aryabhatta

	 (D)	 More than one of the above

	 (E)	 None of the above

	 E-9.	 The species which are in danger of 

extinction are called

	 (A)	 endangered species

	 (B)	 vulnerable species

	 (C)	 Normal species

	 (D)	 More than one of the above

	 (E)	 None of the above

	 E-10.	 Which scheme was introduced by 

Bihar government to reduce poverty ?

	 (A)	 MGNREGA

	 (B)	 Ujjwala

	 (C)	 Jeevika

	 (D)	 More than one of the above

	 (E)	 None of the above
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	 E-6.	 ^maV _| E{e`Z MrV>m {dbwßV àOmVr Kmo{fV hþAm, 

df©

	 (A)	 1965 _|

	 (B)	 1960 _|

	 (C)	 1950 _|

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 E-7.	 {ZåZ{b{IV _| H$m¡Z-gm EH$ Ob {dÚwV H$m 

ZwH$gmZ h¡ ?

	 (A)	 do D$Om© H$m EH$ ApñWa òmoV h¢

	 (B)	 do dZm| H$s H$Q>mB© H$m H$maU ~ZVo h¡§ Am¡a 

dÝ` OrdZ H$mo à^m{dV H$aVo h¢

	 (C)	 do hm{ZH$maH$ CËgO©Z H$m H$maU ~ZVo h¢

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 E-8.	 àW_ H¥${Ì_ CnJ«h H$m Zm_ Wm 

	 (A)	 amo{hUr

	 (B)	 ^mñH$a

	 (C)	 Am`©^Å>

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 E-9.	 do àOm{V`m± Omo {dbwßV hmoZo Ho$ IVao _o h¢, 

H$hbmVr h¡ 

	 (A)	 bwßVàm` àOm{V`m±

	 (B)	 H$_Omoa àOm{V`m±

	 (C)	 gm_mÝ` àOm{V`m±

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	E -10.	 H$m¡Z-gr ̀ moOZm {~hma gaH$ma Ûmam Jar~r hQ>mZo Ho$ 

{b ò bmJy H$s ?

	 (A)	 _ZaoJm

	 (B)	 CÁÁdbm

	 (C)	 Or{dH$m

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht
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	 E-11.	 Which activity influences the 	  
land-use in a  region ?

	 (A)	 Economic activity

	 (B)	 Social activity

	 (C)	 Geographical activity

	 (D)	 More than one of the above

	 (E)	 None of the above

	 E-12.	 As per census 2011, approximately 

what fraction of Bihar population is 

below 25 years of age ?

	 (A)	 60%

	 (B)	 40%

	 (C)	 35%

	 (D)	 More than one of the above

	 (E)	 None of the above

	 E-13.	 Which one of the following	  

organisation is responsible for	  

making of steel of the public sector	

undertaking ?

	 (A)	 BHEL

	 (B)	 SAIL

	 (C)	 TISCO

	 (D)	 More than one of the above

	 (E)	 None of the above

	 E-14.	 Name an iron ore mine which is 

almost 100% export unit. 

	 (A)	 Ratnagiri

	 (B)	 Kudremukh

	 (C)	 Bastar

	 (D)	 More than one of the above

	 (E)	 None of the above

	 E-15.	 Usually industrially urban centers 

surround by which of the following ?

	 (A)	 Coastal hinterland

	 (B)	 Agricultural urban hinterland

	 (C)	 Agricultural rural hinterland

	 (D)	 More than one of the above

	 (E)	 None of the above
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	E-11.	 H$m¡Z-gr J{V{d{Y {H$gr joÌ _| ŷ{_ Cn`moJ H$mo 
à^m{dV H$aVr h¡ ?

	 (A)	 Am{W©H$ J{V{d{Y

	 (B)	 gm_m{OH$ J{V{d{Y

	 (C)	 ^m¡Jmo{bH$ J{V{d{Y

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	E -12.	 2011 H$s OZJUZm Ho$ AZwgma, {~hma OZg§»`m 

H$m bJ^J {H$VZm ̂ mJ 25 df© go H$_ Am`ww H$m 

h¡ ?

	 (A)	 60%

	 (B)	 40%

	 (C)	 35%

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	E-13.	 {ZåZ _| go H$m¡Z-gm g§JR>Z gmd©O{ZH$ joÌ _| ñQ>rb 

CËnmXZ Ho$ {bE {Oå_oXma h¡ ?

	 (A)	 ^ob

	 (B)	 gob

	 (C)	 {Q>ñH$mo

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	E-14.	 bm¡h-A`ñH$ Ho$ IXmZ H$m Zm_ ~VmB`o Omo {H$ 

bJ^J 100% {Z`m©V> BH$mB© h¡ & 

	 (A)	 aËZm{J[a

	 (B)	 Hw$Ðo_wI

	 (C)	 ~ñVa

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	E-15.	 Am_Vm¡a na Am¡Úmo{JH$ ê$n go {dH${gV ehar Ho$ÝÐ 

{ZåZ{b{IV _| go {H$ggo {Kao hmoVo h¢ ?

	 (A)	 VQ>r` ^rVar àXoe

	 (B)	 H¥${f ehar ^rVar joÌ

	 (C)	 H¥${f J«m_rU ^rVar àXoe 

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht
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	 E-16.	 Highest class of roads which are 

mostly 6 lanes or above is called 

	 (A)	 national highways

	 (B)	 express ways

	 (C)	 Airways

	 (D)	 More than one of the above

	 (E)	 None of the above

	 E-17.	 Major river multi-purpose valley 

project of Bihar 

	 (A)	 Son river valley project

	 (B)	 Kosi river valley project

	 (C)	 Gandak river valley project

	 (D)	 More than one of the above

	 (E)	 None of the above

	 E-18.	 Pink revolution in India is related to

	 (A)	 Meat

	 (B)	 Milk

	 (C)	 Honey

	 (D)	 More than one of the above

	 (E)	 None of the above

	 E-19.	 Which one of the following is not 

responsible for the decline in India’s 

biodiversity ?

	 (A)	 afforestation

	 (B)	 forest fire

	 (C)	 mining activities

	 (D)	 More than one of the above

	 (E)	 None of the above

	 E-20.	 Which of the following social	  

movements is not a resistance to 	

multi-purpose projects ?

	 (A)	 Chipko movement

	 (B)	 Narmada Bachao Andolan

	 (C)	 Tehri Dam Andolan

	 (D)	 More than one of the above

	 (E)	 None of the above
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	E-16.	 CƒV_ loUr H$s g‹S>H$| Omo A{YH$Va 6 boZ `m 

Bggo Cna H$r hmoVr h¢, H$hbmVr h¢

	 (A)	 amîQ´>r` amO_mJ©

	 (B)	 EŠgàog doµO

	 (C)	 dm`wnW

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	E-17.	 {~hma H$s à_wI ~hþCÔoer` ZXr KmQ>r n[a`moOZm 

	 (A)	 gmoZ ZXr KmQ>r n[a`moOZm

	 (B)	 H$mogr ZXr KmQ>r n[a`moOZm

	 (C)	 J§S>H$ ZXr KmQ>r n[a`moOZm

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	E-18.	 ^maV _| Jwbm~r H«$mpÝV gå~pÝYV h¡ 

	 (A)	 _rQ>

	 (B)	 XÿY

	 (C)	 _Yw

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	E-19.	 {ZåZ{b{IV _| go H$m¡Z-gm EH$ ^maV H$s O¡d 

{d{dYVm _| {JamdQ> Ho$ {bE {Oå_oXma Zhr§ h¡ ?

	 (A)	 dZrH$aU

	 (B)	 O§Jb H$s AmJ

	 (C)	 IZZ J{V{d{Y`m±

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	E-20.	 {ZåZ _| go H$m¡Z-gm gm_m{OH$ AmÝXmobZ 	

~hþCÔoer` n[a`moOZmAm| Ho$ {b`o H$moB© à{VamoY 

Zht h¡ ?

	 (A)	 {MnH$mo AmÝXmobZ

	 (B)	 Z_©Xm ~MmAmo AmÝXmobZ

	 (C)	 Q>ohar ~m§Y AmÝXmobZ

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht
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	 E-21.	 The best use of resources for present 

and past is related to

	 (A)	 Consumability

	 (B)	 Sustainability

	 (C)	 Supportability

	 (D)	 More than one of the above

	 (E)	 None of the above

	 E-22.	 Which Indian state is first to follow 

the recommendations and exercises 

mentioned under Sendai framework 

agreement ?

	 (A)	 Bihar

	 (B)	 Madhya Pradesh

	 (C)	 Chhattisgarh

	 (D)	 More than one of the above

	 (E)	 None of the above

	 E-23.	 Which of the following is the longest 

and oldest road in India ?

	 (A)	 grand trunk road

	 (B)	 national Highway 6

	 (C)	 Dhanushkodi

	 (D)	 More than one of the above

	 (E)	 None of the above

	 E-24.	 Bhakhra Nangal river valley project 

is made on the river

	 (A)	 Ganga

	 (B)	 Son

	 (C)	 Ravi-Chenab

	 (D)	 More than one of the above

	 (E)	 None of the above

	 E-25.	 Which state is the leading producer 

of pyrites ?

	 (A)	 Kerala

	 (B)	 Bihar

	 (C)	 Rajasthan

	 (D)	 More than one of the above

	 (E)	 None of the above

	 E-26.	 Which one is not the disadvantage 
of private property ?

	 (A)	 the destruction of human face

	 (B)	 nurse of virtues

	 (C)	 materialism

	 (D)	 More than one of the above

	 (E)	 None of the above
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	E-21.	 g§gmYZm| H$m ^{dî` Ed§ dV©_mZ Ho$ {bE gdm©oÎm_ 

à`moJ gå~pÝYV h¡ 

	 (A)	 Cn^moÁ`Vm

	 (B)	 dhZr`Vm

	 (C)	 aI aImd `mo½`

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	E -22.	 goÝXmB© \«o$_dH©$ g_Pm¡Vo Ho$ VhV Cpëb{IV 

{g\$m[aem| Am¡a Aä`mgmo§ H$m nmbZ H$aZo dmbm 

nhbm ^maVr` amÁ` H$m¡Z-gm h¡ ?

	 (A)	 {~hma

	 (B)	 _Ü`àXoe

	 (C)	 N>ÎmrgJ‹S>

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	E-23.	 {ZåZ{b{IV _| go H$m¡Z-gr ̂ maV H$s g~go ~‹S>r 

Am¡a nwamZr g‹S>H$ h¡ ?

	 (A)	 J«¡ÊS> Q´>ÝH$ amoS>

	 (B)	 Z¡eZb hmB©do 6

	 (C)	 YZwfH$mo‹S>r

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	E-24.	 _____ ZXr na ^mI‹S>m Zm§Jb ZXr KmQ>r n[a`moOZm 

~Zm`m J`m h¡ & 

	 (A)	 J§Jm

	 (B)	 gmoZ

	 (C)	 amdr-MoZm~

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	E -25.	 nmBamB©Q> H$m AJ«Ur CËnmXH$ àXoe H$m¡Z-gm h¡ ?

	 (A)	 Ho$ab

	 (B)	 {~hma

	 (C)	 amOñWmZ

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	E-26.	 H$m¡Z-gm EH$ {ZOr gån{Îm H$m ZwH$gmZ Zht h¡ ?

	 (A)	 _mZd Mohao H$m {dZme

	 (B)	 gX²²JwUm| H$s n[aMm[aH$m

	 (C)	 ^m¡{VH$dmX

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht
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	 E-27.	 In which decades was the rationing 

system introduced in India ?

	 (A)	 1960s

	 (B)	 1950s

	 (C)	 1940s

	 (D)	 More than one of the above

	 (E)	 None of the above

	 E-28.	 The ‘Golden quadrilateral’ connect 

which of the following cities ? 

	 (A)	 Mumbai

	 (B)	 Chennai

	 (C)	 Delhi

	 (D)	 More than one of the above

	 (E)	 None of the above

	 E-29.	 Which of the following inequalities are 

reducing due to industrialisation ?

	 (A)	 social

	 (B)	 Judicial

	 (C)	 Economic

	 (D)	 More than one of the above

	 (E)	 None of the above

	 E-30.	 Which of the following method of 

generating electric power from sea 

water is more advantageous ?

	 (A)	 wave power

	 (B)	 Ocean currents

	 (C)	 Tidal power

	 (D)	 More than one of the above

	 (E)	 None of the above

	 E-31.	 Which of the following is related to 

human resource planning ?

	 (A)	 Analyzing existing HR

	 (B)	 Implementation of HR plan

	 (C)	 Recruitment

	 (D)	 More than one of the above

	 (E)	 None of the above

	 E-32.	 IREDA was developed by the 

Government of India for 

	 (A)	 To promote only conventional 

energy sources

	 (B)	 To control pollution

	 (C)	 To develop nuclear energy in 

India

	 (D)	 More than one of the above

	 (E)	 None of the above
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	E-27.	 {H$g XeH$ _| ^maV _|  ameqZJ ì`dñWm H$mo ewê$ 

{H$`m J`m Wm ?

	 (A)	 1960

	 (B)	 1950

	 (C)	 1940

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	E-28.	 ‘ ñd{U©_ MVw^w©O’ {ZåZ go {H$Z eham| H$mo Omo‹S>Vm 

h¢ ?

	 (A)	 _wå~B©

	 (B)	 MoÝZB©

	 (C)	 {Xëbr

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	E-29.	 Am¡ÚmoJrH$aU Ho$ H$maU {ZåZ{b{IV _| go H$m¡Z-gr  

Ag_mZVm |̀ H$_ hmo ahr h¢ ?

	 (A)	 gm_m{OH$

	 (B)	 Ý`m{`H$

	 (C)	 Am{W©H$

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	E-30.	 g_wÐr Ob go {dÚwV epŠV CËnÝZ H$aZo H$s 

{ZåZ{b{IV _| H$m¡Z-gr {d{Y A{YH$ \$m`Xo dmbr 

h¡ ?

	 (A)	 Va§J epŠV

	 (B)	 gmJa H$s bha|

	 (C)	 Ádmar` epŠV

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	E-31.	 {ZåZ{b{IV _o§ go H$m¡Z-gm _mZd g§gmYZ {Z`moOZ 

go gå~pÝYV h¡ ?

	 (A)	 _m¡OyXm _mZd g§gmYZ H$m {díbofU

	 (B)	 _mZd g§gmYZ `moOZm H$m H$m`m©Ýd`Z

	 (C)	 ^Vu

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	E-32.	 BaoS>m (IREDA) ̂ maV gaH$ma Ûmam {dH${gV {H$`m 

J`m, Ho$ {b ò 

	 (A)	 Ho$db nmaån[aH$ D$Om© Ho$ òmoVm| H$mo ~‹T>mdm 

XoZo Ho$ {b`o

	 (B)	 àXÿfU {Z`§ÌU Ho$ {b`oo

	 (C)	 ^maV _| na_mUw D$Om© Ho$ {dH$mg Ho$ {b`o

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht
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	 E-33.	 West Bengal has reserves of the 

following non-metallic minerals 

	 (A)	 Gypsum

	 (B)	 Uranium

	 (C)	L imestone

	 (D)	 More than one of the above

	 (E)	 None of the above

	 E-34.	 Khetri mines in Rajasthan are 

famous for 

	 (A)	 copper

	 (B)	 Iron-ore

	 (C)	 mica

	 (D)	 More than one of the above

	 (E)	 None of the above

	 E-35.	 Which of the following is a fungal 

poultry disease ?

	 (A)	 Moniliasis

	 (B)	 Fowl pox

	 (C)	 Ranikhet

	 (D)	 More than one of the above

	 (E)	 None of the above

	 E-36.	 What is the most famous fruit of 

Bihar ?

	 (A)	 Guava

	 (B)	 pineapple

	 (C)	L itchi

	 (D)	 More than one of the above

	 (E)	 None of the above
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	E-33.	 npíM_r ~§Jmb _| {ZåZ{b{IV J¡a-YmpËdH$ I{ZO 

H$m ^ÊS>>ma h¡  

	 (A)	 {Oßg_

	 (B)	 `yao{Z`_

	 (C)	 MyZm Am¡a MyZm nËWa

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	E-34.	 amOñWmZ H$m IoÌr IXmZ à{gÕ h¡, Ho$ {b`o

	 (A)	 Vm§~m

	 (B)	 bm¡h A`ñH$

	 (C)	 _mB©H$m

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	E-35.	 {ZåZ{b{IV _| H$m¡Z-gm EH$ H$dH$ _wJu amoJ h¡ ?

	 (A)	 H¢${S>{S>Am{gg

	 (B)	 \$mCb nm°Šg

	 (C)	 amZrIoV

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	E -36.	 {~hma H$m g~go à{gÕ \$b Š`m h¡ ?

	 (A)	 A_ê$X

	 (B)	 AZmZmg

	 (C)	 brMr

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht
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	 E-37.	 Which of the following process is 

called soil mulching ?

	 (A)	 Covering bare ground with a 

layer of organic matters

	 (B)	 To build barriers through stones

	 (C)	 Rocks are piled up to slow down 

the flow of water

	 (D)	 More than one of the above

	 (E)	 None of the above

	 E-38.	 Which component connects the 

substation to the areas where power 

is to be distributed ?

	 (A)	 feeders

	 (B)	 distributors

	 (C)	 power plants

	 (D)	 More than one of the above

	 (E)	 None of the above

	 E-39.	 Rearing and breeding of fish in 

ponds, tanks and artificial reservoirs 

is known as

	 (A)	 Aquaculture

	 (B)	 Pondering

	 (C)	 Pisciculture

	 (D)	 More than one of the above

	 (E)	 None of the above

	 E-40.	 Which one of the following states 

is the largest producer of copper in 

India ?

	 (A)	 Gujarat

	 (B)	 Madhya Pradesh

	 (C)	 Karnataka

	 (D)	 More than one of the above

	 (E)	 None of the above
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	E-37.	 {ZåZ{b{IV _| go {H$g à{H«$`m H$mo _¥Xm nbdma 
H$hVo h¢ ?

	 (A)	 Z§Jr O_rZ H$mo H$m~©{ZH$ nXmWm] H$s naV 
go T>H$Zm

	 (B)	 nËWam| Ho$ _mÜ`_ go AdamoYm| H$m {Z_m©U 
H$aZm

	 (C)	 nmZr Ho$ àdmh H$mo Yr_m H$aZo Ho$ {b`o 
MÅ>mZm| H$m ‹T>oa bJm`m OmVm h¡

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	E-38.	 H$m¡Z-gm KQ>H$ g~ñQ>oeZ H$mo CZ joÌm| go Omo‹S>Vm 

h¡, Ohm± {~Obr {dV[aV H$s OmVr h¡ ?

	 (A)	 \$sS>a

	 (B)	 {dVaH$

	 (C)	 nmda ßbm§Q>

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	E-39.	 Vmbm~m|, Q>¡ §H$m| Ed§ H¥${Ì_ Obme`m| _| _N>br Ho$ 

nmbZ Am¡a àOZZ H$mo OmZm OmVm h¡ 

	 (A)	 Obr` H¥${f

	 (B)	 Vmbm~ {Z_m©U

	 (C)	 _Ëñ` nmbZŸ

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	E-40.	 {ZåZ àXoem| _| ^maV H$m H$m¡Z-gm EH$ àXoe 

g~go ~‹S>m Vm§~m CËnmXH$ h¡ ?

	 (A)	 JwOamV

	 (B)	 _Ü`àXoe

	 (C)	 H$Zm©Q>H$

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht
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PART – III
(political science)

	 P-1.	 Which of the following states in 

independent India, were formed on 

Linguistic basis ?

	 (A)	 Tamil Nadu and Karnataka

	 (B)	 Maharashtra and Gujarat

	 (C)	 Andhra Pradesh and Haryana

	 (D)	 More than one of the above

	 (E)	 None of the above

	 P-2.	 The Preamble of the constitution of 
India was termed as ‘The Political 
Horoscope’ by who of the following ?  

	 (A)	 By K.T. Shah

	 (B)	 By K.M. Munshi

	 (C)	 By J. V. Kripalani

	 (D)	 More than one of the above 

	 (E)	 None of the above

	 P-3.	 The fundamental duties of every 
citizen of India, were added in our 
constitution by which of the following 
constitutional amendment ?

	 (A)	 By Forty-fourth amendment

	 (B)	 By Forty-second amendment

	 (C)	 By Twenty-fourth amendment

	 (D)	 More than one of the above

	 (E)	 None of the above

	 P-4.	 Which of the following is the main 
factor of the outcome of polities of 
social division in our country ?

	 (A)	 The political leaders attitude 
to raise the demand of any 
community

	 (B)	 The reaction of the government 
to the demands of different 
groups

	 (C)	 The people’s perception for their 
identity in India

	 (D)	 More than one of the above

	 (E)	 None of the above

	 P-5.	 The Indian nationalism contains 
mainly in it, which of the following 
elements ?

	 (A)	 The desire for self rule in the 
people of the country

	 (B)	 The feeling of national identity

	 (C)	 The feeling of pride and unity

	 (D)	 More than one of the above

	 (E)	 None of the above

	 P-6.	 Who of the following called the 

constitution of India, ‘a lawyers 

paradise’ ? 

	 (A)	 K.V. Rao

	 (B)	 B. Shiva Rao

	 (C)	 Ivor Jennings

	 (D)	 More than one of the above

	 (E)	 None of the above
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PART – III
(political science)

	 P-1.	 {ZåZ _| go ñdV§Ì ^maV _| H$m¡Z-go amÁ` ^mfmB© 

AmYma na {Z{_©V {H$`o J`o Wo ?

	 (A)	 V{_bZmSw> Ed§ H$Zm©Q>H$

	 (B)	 _hmamîQ´> Ed§ JwOamV

	 (C)	 Am§Y«àXoe Ed§ h[a`mUm

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 P-2.	 ^maV Ho$ g§{dYmZ H$s àñVmdZm H$mo {ZåZ _| go 

{H$gHo$ Ûmam ‘ amOZr{VH$ Hw§$S>br ’ ~Vbm`m J`m 
h¡ ?

	 (A)	 Ho$. Q>r. emh Ûmam

	 (B)	 Ho$. E_. _w§er Ûmam

	 (C)	 Oo. dr. H¥$nbmZr Ûmam 

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 P-3.	 ^maV _| àË òH$ ZmJ[aH$ Ho$ _yb H$V©ì`, h_mao 

g§{dYmZ _|, {ZåZ _| go {H$g g§d¡Ym{ZH$ g§emoYZ 

Ûmam OmoS>o J ò Wo ?

	 (A)	 Mdmbrg d| g§emoYZ Ûmam

	 (B)	 ~`mbrg d| g§emoYZ Ûmam

	 (C)	 Mm¡drg d| g§emoYZ Ûmam

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 P-4.	 AnZo Xoe _| gm_m{OH$ {d^mOZ H$s amOZr{V H$m 
{ZåZ _| go H$m¡Z-gm à_wI H$maH$ h¡ ?

	 (A)	 amOZoVmAm| H$m {H$gr g_wXm` H$s _m±Jm| H$mo 
CR>mZo Ho$ à{V ÑpîQ>H$moU

	 (B)	 gaH$ma H$s {d{^Þ g_yhm| H$s _m±Jm| Ho$ à{V 
à{V{H«$`m

	 (C)	 ^maV _| bmoJm| H$m AnZr nhMmZ hoVw 
ÑpîQ>H$moU

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 P-5.	 ^maVr` amîQ´>dmX {ZåZ _| go {H$g VËd H$mo AnZo 
_| _w»`V: g_m{hV aIVm h¡ ?

	 (A)	 Xoe Ho$ bmoJm| _| ñd`§ Ho$ {b`o emgZ H$aZo 
H$s BÀN>m H$mo

	 (B)	 amîQ´>r` nhMmZ H$s ^mdZm H$mo

	 (C)	 Jd© Ed§ EH$Vm H$s ^mdZm H$mo 

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 P-6.	 {ZåZ _| go {H$gZo ^maV Ho$ g§{dYmZ H$mo ‘dH$sbm| 

H$m ñdJ©’ ~Vbm`m h¡ ?

	 (A)	 Ho$. dr. amd Zo 

	 (B)	 ~r. {edm amd Zo

	 (C)	 AmBda O¡{Z§½g Zo 

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht
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	 P-7.	 With reference to the need of elections 
in the states, which of the following 
statements is/are correct ?

	 (A)	 The elections provide an 
opportunity to unhappy people 
to vote against the ruling party

	 (B)	 The elections may lead to a lot 
of economic developments in the 
state

	 (C)	 The elections can lead to 
changes in the policies of the 
governments

	 (D)	 More than one of the above 

	 (E)	 None of the above

	 P-8.	 The disputes relating to the election 
of the President are decided in India 
by which of the following ?

	 (A)	 By the Supreme Court

	 (B)	 By the Parliament

	 (C)	 By the House of people

	 (D)	 More than one of the above

	 (E)	 None of the above

	 P-9.	 Who of the following was the 

Chairman of the ‘Provincial 

Constitution Committee’ of the 

Constituent Assembly of India ?

	 (A)	 Sardar Vallabh Bhai Patel

	 (B)	 Rajendra Prasad

	 (C)	 K. M. Munshi

	 (D)	 More than one of the above

	 (E)	 None of the above

	 P-10.	 The National Human Rights 
Commission was set up in which of 
the following years in India ?

	 (A)	 In 2003

	 (B)	 In 1993

	 (C)	 In 1992

	 (D)	 More than one of the above

	 (E)	 None of the above

	 P-11.	 The principle of ‘One person, one 
vote, one value’ was not followed in 
the decade of 2010s, in which of the 
following countries ?

	 (A)	 In Fizi

	 (B)	 In Estonia

	 (C)	 In Iraq

	 (D)	 More than one of the above

	 (E)	 None of the above

	 P-12.	 The right to information in India is

	 (A)	 The Fundamental Right

	 (B)	 The Legal Right

	 (C)	 The Social Right

	 (D)	 More than one of the above

	 (E)	 None of the above
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	 P-7.	 amÁ`m| _| {Zdm©MZm| H$s Amdí`H$Vm Ho$ gÝX^© _|, 
{ZåZ _| go H$m¡Z-gm/go H$WZ ghr h¡ ?

	 (A)	 {Zdm©MZ, emgH$ Xb Ho$ {déÕ _VXmZ H$aZo 
H$m Ag§VwîR> bmoJm| H$mo Adga àXmZ H$aVo h¢

	 (B)	 {Zdm©MZ, amÁ` _| ~hþV go Am{W©H$ gwYmam| 
H$m ZoV¥Ëd H$a gH$Vo h¡

	 (C)	 {Zdm©MZ, emgZ H$s Zr{V`m| _| n[adV©Zm| 
H$mo ZoV¥Ëd àXmZ H$a gH$Vo h¡ 

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 P-8.	 amîQ́>n{V Ho$ {Zdm©MZ go gå~pÝYV {ddmX ^maV df© 
Ho$ AÝVJ©V, {ZåZ _| go {H$gHo$ Ûmam {Z{U©V {H$ ò 
OmVo h¢ ?

	 (A)	 gdm}ƒ Ý`m`mb` Ho$ Ûmam

	 (B)	 g§gX Ho$ Ûmam

	 (C)	 bmoH$g^m Ho$ Ûmam

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	 P-9.	 {ZåZ _| go ^maV H$s g§{dYmZ {Z_m©Ìr g^m H$s 

‘ àmÝVr` g§{dYmZ g{_{V’ H$m AÜ`j H$m¡Z Wm ?

	 (A)	 gaXma d„^ ^mB© nQ>ob

	 (B)	 amOoÝÐ àgmX

	 (C)	 Ho$. E_². _w§er

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	P-10.	 amîQ́>r` _mZdm{YH$ma Am`moJ, ^maV _| {ZåZ _| go 
{H$g df© ñWm{nV {H$`m J`m Wm ?

	 (A)	 2003 _|

	 (B)	 1993 _|

	 (C)	 1992 _|

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	P-11.	 ‘EH$ ì`pŠV, EH$ dmoQ>, EH$ _yë` ’ Ho$ {gÕmÝV H$m 

2010 Ho$ XeH$ _|, {ZåZ _| go {H$g Xoe Ûmam 

AZwH$aU Zht {H$`m J`m Wm ?

	 (A)	 {\$Or Zo

	 (B)	 BñQ>mo{Z`m Zo

	 (C)	 BamH$ Zo

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	P-12.	 gyMZm H$m A{YH$ma ^maV _| h¡

	 (A)	 _yb A{YH$ma

	 (B)	 H$mZyZr A{YH$ma

	 (C)	 gm_m{OH$ A{YH$ma

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht
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	 P-13.	 With reference to the absence of 
educational qualifications in India 
for a candidate in general election, 
which of the following statements 
is/are correct ?

	 (A)	 Fixing of educational qualification 
for the member of Legislature 
may deprive the majority of 
voters of the right to contest 
elections

	 (B)	 The relevant qualification for 
the member of Legislature is the 
ability to understand people’s 
problems and interests which is 
examined by voters after every 
five years

	 (C)	 Educational qualifications are 
not relevant for all kinds of 
jobs 

	 (D)	 More than one of the above

	 (E)	 None of the above

	 P-14.	 Dr. B. R. Ambedkar was appointed 

the Chairman of ‘ The Drafting 

Committee’ on which of the following 

date ?

	 (A)	 On 26th November, 1949

	 (B)	 On 14th September, 1949

	 (C)	 On 29th August, 1949

	 (D)	 More than one of the above

	 (E)	 None of the above

	 P-15.	 Which of the following system 
provides ‘every man the right to be 
his own appressor’ ?

	 (A)	 The Democracy

	 (B)	 The Autocracy

	 (C)	 The monarchy

	 (D)	 More than one of the above

	 (E)	 None of the above

	 P-16.	 The provisions for the allocation of 
seats in Rajya Sabha is contained in 
which schedule of the Constitution 
of India ?

	 (A)	 In the sixth schedule

	 (B)	 In the fourth schedule

	 (C)	 In the second schedule

	 (D)	 More than one of the above

	 (E)	 None of the above

	 P-17.	 At the time of Independence, who of 

the following took over the task of 

working princely states to join India ?

	 (A)	 Jawaharlal Nehru

	 (B)	 Sardar Vallabh Bhai Patel

	 (C)	 Dr. B. R. Ambedkar

	 (D)	 More than one of the above

	 (E)	 None of the above
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	P-13.	 ^maV _| gm_mÝ` {Zdm©MZ _| EH$ àË`mer hoVw 

e¡j{UH$ `mo½`VmAm| Ho$ A^md Ho$ gÝX^© _|, 

{ZåZ _| go H$m¡Z-gm/go H$WZ ghr h¡ ?

	 (A)	 {dYm{`H$m Ho$ gXñ` hoVw e¡j{UH$ 

`mo½`VmAm| H$m {ZYm©aU, _VXmVmAm| Ho$ 

~hþ_V H$mo MwZmd bT>Zo Ho$ A{YH$ma go 

d§{MV H$a gH$Vm h¡ 

	 (B)	 {dYm{`H$m Ho$ gXñ` hoVw Cn`wŠV ̀ mo½`Vm`| 

bmoJm| H$s g_ñ`mAm| Ed§ {hVm| H$mo g_PZm 

h¡ {Ogo àË`oH$ nm±M df© ~mX _VXmVmAm| 

Ûmam nar{jV {H$`m OmVm h¡

	 (C)	 e¡j{UH$ ̀ mo½`Vm ̀ | g^r àH$ma H$s godmAm| 

Ho$ {b`o Cn`wŠV Zht h¡ 

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	P-14.	 S>m°. ~r. Ama. Aå~oS>H$a {ZåZ _| go {H$g {V{W H$mo 

‘àmê$n g{_{V ’ Ho$ AÜ`j {Z ẁŠV {H$ ò J ò Wo ?

	 (A)	 26 Zdå~a, 1949 H$mo

	 (B)	 14 {gVå~a, 1949 H$mo

	 (C)	 29 AJñV, 1949 H$mo

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	P-15.	 {ZåZ _| go H$m¡Z-gr ì`dñWm ‘àË òH$ ì`pŠV H$mo 
AnZm ñd §̀ H$m CËnrS>H$ hmoZo H$m A{YH$ma’ àXmZ 
H$aVr h¡ ?

	 (A)	 bmoH$V§Ì

	 (B)	 A{^OmVV§Ì

	 (C)	 amOV§Ì

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	P-16.	 amÁ`g^m _| grQ>m| Ho$ Amd§Q>Z hoVw àmdYmZ, ^maV 
Ho$ g§{dYmZ H$s {H$g AZwgyMr _| g{Þ{hV h¡ ?

	 (A)	 N>Q>dt AZwgyMr _|

	 (B)	 MVwW© AZwgyMr _|

	 (C)	 Xÿgar AZwgyMr _|

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	P-17.	 ñdV§ÌVm Ho$ g_`, {ZåZ _| go {H$gZo [a`mgVm| 

H$mo ^maV _| em{_b hmoZo hoVw, _ZmZo H$m H$m`© 

{b`m Wm ?

	 (A)	 Odmhabmb Zohê$ Zo

	 (B)	 gaXma dëb^ ^mB© nQ>ob Zo

	 (C)	 S>m°. ~r. Ama. Aå~oS>H$a Zo

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht
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	 P-18.	 Which of the following may be called 
the effect of Russian Revolution in 
India ?

	 (A)	 The Publication of book 
		  ‘Red Revolution’ by R. S. Avasthi 

in 1920-21
	 (B)	 The visit of Russia by Jawaharlal 

Nehru and Ravindranath Tagore
	 (C)	 The formation of communist 

Party in India in mid-1920s
	 (D)	 More than one of the above
	 (E)	 None of the above

	 P-19.	 The phrase ‘union of states’ in the 
constitution of India clarifies which 
of the following ?

	 (A)	 That canadian pattern of ‘union’ 
is preferred in India

	 (B)	 That no component unit has 
freedom to secede from the 
union

	 (C)	 That our federation is not the 
result of some agreement among 
the component units

	 (D)	 More than one of the above 

	 (E)	 None of the above

	 P-20.	 Which of the following was the common 
feature in the Constitution of India 
drafted by Motilal Nehru and others 
in 1928 and by the Karaachi Session 
of Indian National Congress in 1931 ?

	 (A)	 Protection of the rights of 
minorities

	 (B)	 Right to freedom and equality

	 (C)	 Universal adult franchise

	 (D)	 More than one of the above

	 (E)	 None of the above

	 P-21.	 Which of the following is the main 
challenge to the democracy in India ?

	 (A)	 To strengthen the institutions 
that help people’s participation 
and control in the country

	 (B)	 To ensure appropriate inclusion 
of women and minorities in the 
political system

	 (C)	 To ensure greater power to local 
governments

	 (D)	 More than one of the above

	 (E)	 None of the above

	 P-22.	 Which of the following is the Quorum 
of Lok Sabha ?

	 (A)	 It is 1/15 of the total strength of 
the house

	 (B)	 It is 1/10 of the total strength of 
the house

	 (C)	 It is 1/5 of the total strength of 
the house

	 (D)	 More than one of the above

	 (E)	 None of the above

	 P-23.	 ‘ The money bill cannot be introduced 
in the council of States in India’, its 
provision is found in which of the 
following articles of the constitution 
of India ?

	 (A)	 In 111th Article

	 (B)	 In 110th Article

	 (C)	 In 109th Article 

	 (D)	 More than one of the above

	 (E)	 None of the above
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	P-18.	 {ZåZ _| go ^maV _| ê$gr H«$mpÝV H$m {H$gH$mo 
à^md H$hm Om gH$Vm h¡ ?

	 (A)	 Ama. Eg. AdñWr Ûmam 1920-21 _|  
‘ a¡S> [adë`yeZ’ nwñVH$ H$m àH$meZ

	 (B)	 Odmhabmb Zohê$ Ed§ adrÝÐZmW Q>¡Jmoa H$s 
ê$g H$s `mÌm

	 (C)	 1920 Ho$ XeH$ Ho$ _Ü` ̂ maV _|, gmå`dmXr 
Xb H$m JR>Z hmoZm

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	P-19.	 ^maV Ho$ g§{dYmZ _| dmŠ`m§e ‘ amÁ`m| H$m g§K ’ {ZåZ 
_| go {H$go ñnîQ> H$aVm h¡ ?

	 (A)	 ^maV _| H$ZmS>m`r Z_yZo H$s ‘ `y{Z`Z ’ H$mo 
dar`Vm Xr J`r h¡

	 (B)	 H$moB© ^r KQ>H$ BH$mB© g§K go {dÀN>oX H$aZo 
H$s ñdV§ÌVm Zht aIVr h¡

	 (C)	 h_mam g§K KQ>H$ BH$mB`m| Ho$ {H$gr Amngr 
g_Pm¡Vo H$m n[aUm_ Zht h¡ 

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	P -20.	 {ZåZ _| go, 1928 _| _moVrbmb Zohê$ VWm AÝ` 

Ûmam Ed§ 1931 _| ̂ maVr` amîQ́>r` H$m§J«og Ho$ H$amMr 

A{YdoeZ Ûmam, àmê${nV ^maV Ho$ g§{dYmZ H$s, 

H$m¡Z-gr  gm_mÝ` {deofVm Wr ?

	 (A)	 Aëng§»`H$m| Ho$ A{YH$mam| H$m g§ajU

	 (B)	 ñdV§ÌVm Am¡a g_mZVm H$m A{YH$ma

	 (C)	 gmd©^m¡_ d`ñH$ _Vm{YH$ma

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	P-21.	 {ZåZ _| go ^maV _| bmoH$V§Ì H$s _w»` MwZm¡Vr  
H$m¡Z-gr h¡ ?

	 (A)	 Xoe _| bmoJm| H$s gh^m{JVm Ed§ {Z`§ÌU _| 
ghm`H$ go ñWmZm| H$mo geŠV H$aZm 

	 (B)	 amOZr{VH$ ì`dñWm _| _{hbmAm| VWm 
Aëng§»`H$m| H$m C{MV g_mdoe gw{ZpíMV 
H$aZm  

	 (C)	 ñWmZr` emgZm| Ho$ {b ò Am¡a A{YH$ epŠV 
H$mo gw{ZpíMV H$aZm

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	P-22.	 {ZåZ _| go bmoH$g^m H$m H$moa_ H$m¡Z-gm h¡ ?

	 (A)	 `h gXZ H$s Hw$b g§»`m H$m 1/15 h¡ 

	 (B)	 `h gXZ H$s Hw$b g§»`m H$m 1/10 h¡ 

	 (C)	 `h gXZ H$s Hw$b g§»`m H$m 1/5 h¡ 

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	P-23.	 ‘YZ {dYò H$ amÁ`g^m _| ^maV Ho$ AÝVJ©V,  
nwZ: ñWm{nV Zht {H$`m Om gH$Vm h¡ ’; ̀ h àmdYmZ 
^maV Ho$ g§{dYmZ Ho$ {H$g AZwÀN>oX _| nm`m  
OmVm h¡ ?

	 (A)	 AZwÀN>oX 111 _|

	 (B)	 AZwÀN>oX 110 _|

	 (C)	 AZwÀN>oX 109 _|

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht
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	 P-24.	 In which of the following periods 
mainly the new type of political 
consciousness grew during British 
rule in India ?

	 (A)	 During the first half period of  
20th Century

	 (B)	 During the second half period of 
19th Century

	 (C)	 During the first half period of  
19th Century 

	 (D)	 More than one of the above

	 (E)	 None of the above

	 P-25.	 Which of the following statement is 
correct about the right of equality 
in India ?

	 (A)	 This right cannot be used to 
perpetuate any illegality

	 (B)	 This right does not envisage 
negative equality

	 (C)	 That the like should be treated 
alike

	 (D)	 More than one of the above

	 (E)	 None of the above

	 P-26.	 The Equal Remuneration Act came 
into existence in India, in which of 
the following years ?

	 (A)	 In 1982

	 (B)	 In 1976

	 (C)	 In 1970

	 (D)	 More than one of the above

	 (E)	 None of the above

	 P-27.	 In which of the following was the 
main cause of deforestation in 
British India ?

	 (A)	 To supply the timbers for the 
Royal Navy

	 (B)	 To meet the growing need of 
sleepers on the railways and for 
the expansion of its network

	 (C)	 To improve the land for cultivation 
as a sign of progress

	 (D)	 More than one of the above
	 (E)	 None of the above

	 P-28.	 Which of the following statement is 
correct about the Supreme Court 
and High Courts in India ?

	 (A)	 These courts can determine 
the constitutional validity of 
any legislation or action of the 
executive

	 (B)	 These courts have the power to 
interpret the constitution

	 (C)	 Their judges may be removed 
only by impeachment motion 
passed separately by both 
houses of parliament by two 
third majority

	 (D)	 More than one of the above

	 (E)	 None of the above

	 P-29.	 Who of the following was the Prime 
Minister of the country at the time of 
the formation of Mandal Commission 
in India ?

	 (A)	 Chaudhari Charan Singh

	 (B)	 V.P. Singh

	 (C)	 Morarji Desai

	 (D)	 More than one of the above

	 (E)	 None of the above
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	P-24.	 {ZåZ _| go {H$g H$mb Ho$ AÝVJ©V _w»`V: ^maV 
_| {~«{Q>e emgZ Ho$ Xm¡amZ, ZdrZ àH$ma H$s 
amOZr{VH$ MoVZm H$s d¥{Õ hþ`r Wr ?

	 (A)	 20 dt eVmãXr Ho$ àW_ AY©H$mb Ho$ 
Xm¡amZ

	 (B)	 19 dt eVmãXr Ho$ {ÛVr` AY©H$mb Ho$ 
Xm¡amZ

	 (C)	 19 dt eVmãXr Ho$ àW_ AY©H$mb Ho$ 
Xm¡amZ

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	P-25.	 {ZåZ _| go H$m¡Z-gm H$WZ ^maV _| g_mZVm Ho$ 

A{YH$ma Ho$ ~mao _| ghr h¡ ?

	 (A)	 `h A{YH$ma Ad¡YVm H$mo emídV H$aZo Ho$ 

{b`o à`wŠV Zht {H$`m Om gH$Vm h¡

	 (B)	 `h A{YH$ma ZH$mamË_H$ g_mZVm H$s 

n[aH$ënZm Zht H$aVm h¡

	 (C)	 {H$ g_mZ H$mo g_mZ _mZm OmZm Mm{h`|

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	P-26.	 g_mZ n[al{_H$ A{Y{Z`_ ^maV _|, {ZåZ _| go 
{H$g df© ApñVËd _| Am`m Wm ?

	 (A)	 1982 _|

	 (B)	 1976 _|

	 (C)	 1970 _|

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	P-27.	 {ZåZ _| go {~«{Q>e ^maV _|, dZmoÝ_ybZ H$m à_wI 
H$maU H$m¡Z-gm Wm ?

	 (A)	 emhr ObgoZm hoVw B_maVr bH$S>r H$s 
AmnyVu H$aZm

	 (B)	 aob_mJ© Ed§ BgHo$ g§Omb Ho$ àgma hoVw 
ñbrnam| H$s ~T>Vr hþ`r Amdí`H$Vm H$mo 
nyam H$aZm

	 (C)	 CÞ{V Ho$ {MÝh Ho$ ê$n _| OwVmB© hoVw ^y{_ 
gwYma H$aZm

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	P-28.	 {ZåZ _| go ^maV _| gdm}ƒ Ý`m`mb` VWm Cƒ 
Ý`m`mb`m| Ho$ ~mao _| H$m¡Z-gm H$WZ ghr h¡ ?

	 (A)	 `o Ý`m`mb` {H$gr ^r {dYm`Z `m 
H$m`©nm{bH$m Ho$ H$m`© H$s g§d¡Ym{ZH$ 
d¡YVm H$m {ZYm©aU H$a gH$Vo h¡

	 (B)	 BZ Ý`m`mb`m| H$mo g§{dYmZ H$s ì`m»`m 
H$aZo H$s epŠV àmßV h¡

	 (C)	 CZHo$ Ý`m`mYrem| H$mo Ho$db g§gX Ho$ XmoZm| 
gXZm| _| AbJ-AbJ Xmo {VhmB© ~hþ_V 
go nm[aV A{dídmg àñVmd Ûmam hr hQ>m`m 
Om gH$Vm h¡ 

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	P-29.	 {ZåZ _| go ̂ maV _|, _§S>b Am`moJ Ho$ JR>Z Ho$ g_` 
Xoe _| H$m¡Z àYmZ_§Ìr Wm ?

	 (A)	 Mm¡Yar MaU qgh

	 (B)	 dr.nr. qgh

	 (C)	 _moamOu XogmB©

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht
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	 P-30.	 Which of the following is the basic 
feature of secularism in India ?  

	 (A)	 It is progressive secularism

	 (B)	 It is dynamic secularism

	 (C)	 It is enlightened secularism

	 (D)	 More than one of the above 

	 (E)	 None of the above

	 P-31.	 Who of the following defined 
democracy as ‘a government in 
which every one has a share’ ? 

	 (A)	 Garner

	 (B)	 Seeley

	 (C)	 Hearnshaw

	 (D)	 More than one of the above

	 (E)	 None of the above

	 P-32.	 How many of the following seats 
in Lok Sabha, were reserved for 
scheduled castes and scheduled 
tribes upto January 2019 ?

	 (A)	 92 seats for scheduled castes 
and 51 for scheduled tribes

	 (B)	 80 seats for scheduled castes 
and 40 for scheduled tribes

	 (C)	 84 seats for scheduled castes 
and 47 for scheduled tribes

	 (D)	 More than one of the above

	 (E)	 None of the above

	 P-33.	 ‘The Advisory Committee’ of the 

Constituent Assembly of India was 

formed for which of the following 

affairs ?

	 (A)	 For linguistic affairs

	 (B)	 For  substantive affairs

	 (C)	 For procedural affairs

	 (D)	 More than one of the above

	 (E)	 None of the above

	 P-34.	 The elections to the Constituent 

Assembly in India were held

	 (A)	 In October, 1946

	 (B)	 In July, 1946

	 (C)	 In April, 1946

	 (D)	 More than one of the above

	 (E)	 None of the above

	 P-35.	 Which of the following is the main 
factor for the success of democracy 
in India ?

	 (A)	 The strengthening of local self 
governments by 73rd and 74th 
constitutional Amendments

	 (B)	 The equality of status and 
opportunities provided by the 
constitution of India

	 (C)	 The written constitution and the 
civil liberties to all the citizens of 
the country

	 (D)	 More than one of the above
	 (E)	 None of the above
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	P-30.	 {ZåZ _| go ^maV _| Y_© {ZanojVm H$s H$m¡Z-gr 
_m¡{bH$ {deofVm h¡ ?

	 (A)	 `h àJ{Verb Y_©{ZanojVm h¡

	 (B)	 `h JË`mË_H$ Y_©{ZanojVm h¡

	 (C)	 `h  àd¥Õ Y_©{ZanojVm h¡

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	P-31.	 {ZåZ _| go {H$gZo n[a^m{fV {H$`m Wm {H$ bmoH$V§Ì 
‘EH$ Eogm emgZ hmoVm h¡ {Og_| àË òH$ H$m EH$ 
^mJ hmoVm h¡ ’ ?

	 (A)	 JmZ©a Zo

	 (B)	 erbo Zo

	 (C)	 hZ©em Zo

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	P-32.	 {ZåZ _| go OZdar 2019 VH$, bmoH$g^m _| 
AZwgy{MV Om{V Ed§ OZOm{V Ho$ {b`o {H$VZr 
grQ>| Ama{jV Wt ?

	 (A)	 92 grQ>| AZwgy{MV Om{V`m| VWm 51 
AZwgy{MV OZOm{V`m| hoVw

	 (B)	 80 grQ>| AZwgy{MV Om{V`m| VWm 40 
AZwgy{MV OZOm{V`m| hoVw

	 (C)	 84 grQ>| AZwgy{MV Om{V`m| VWm 47 
AZwgy{MV OZOm{V`m| Ho$ {b`o

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	P-33.	 ^maV H$s g§{dYmZ {Z_m©Ìr g^m H$s ‘gbmhH$ma 

g{_{V’ {ZåZ _| go {H$Z H$m`m] Ho$ {b ò ñWm{nV H$s 

J`r Wr ?

	 (A)	 ^mfmB© _m_bm| Ho$ {b`o

	 (B)	 _yb _m_bm| Ho$ {b`o

	 (C)	 à{H«$`mË_H$ _m_bm| Ho$ {b`o

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	P-34.	 ^maV _| g§{dYmZ {Z_m©Ìr g^m Ho$ {b ò {Zdm©MZ  

hþ̀ o Wo

	 (A)	 AŠQy>~a, 1946 _|

	 (B)	 OwbmB©, 1946 _|

	 (C)	 Aàob, 1946 _|

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	P-35.	 {ZåZ _| go, ^maV _| bmoH$V§Ì H$s g\$bVm hoVw 
H$m¡Z-gm à_wI H$maH$ h¡ ?

	 (A)	 73 d| VWm 74 d| g§d¡Ym{ZH$ g§emoYZm| Ûmam 
ñWmZr` ñdemgZ H$m geŠVrH$aU {H$`m 
OmVm

	 (B)	 g§{dYmZ Ûmam àXÎm ñVa VWm Adga H$s 
g_mZVm`|

	 (C)	 {b{IV g§{dYmZ VWm Xoe Ho$ g^r ZmJ[aH$m| 
hoVw ZmJ[aH$ ñdV§ÌVm`| 

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht
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	 P-36.	 Match the List – I of National Political 
Parties of India, with List – II of the 
years of their formation and select 
the correct answer from the code 
given below the lists :

	 List – I	 List – II
	 (Names of the	 (Years of their  
	 political parties)	 formation) 
	 a.	 All India 	 1.	 1984 

Trinamool 	  
congress

	 b.	 Bahujan Samaj	 2.	 1980 
Party

	 c.	 Bharatiya Janata	 3.	 1964 
Party

	 d.	 Communist 	 4.	 1998 
Party of India- 
Marxist (CPI-M)

		  Code :

				   a	 b	 c	 d

	 (A)			  4	 3	 2	 1

	 (B)			  1	 2	 3	 4

	 (C)			  4	 1	 2	 3

	 (D)	 More than one of the above

	 (E)	 None of the above

	 P-37.	 Who of the following commented 
that ‘The democracy is the union of 
conscious and sub-conscious mind’ ?

	 (A)	 Gettle

	 (B)	 Hearnshaw

	 (C)	 Hocking

	 (D)	 More than one of the above

	 (E)	 None of the above

	 P-38.	 The movement known as ‘Nyaya 
Yudh’ was led by which of following 
leader in Haryana ?

	 (A)	 By Bhajan Lal

	 (B)	 By Devi Lal

	 (C)	 By Bansi Lal

	 (D)	 More than one of the above 

	 (E)	 None of the above

	 P-39.	 Raja Ram Mohan Roy was mainly 
much influenced and he started 
working for creation of nation state, 
by legacies of which of the following 
revolutions ?

	 (A)	 By Legacies of French 

		  Revolution

	 (B)	 By Legacies of Russian 

		  Revolution

	 (C)	 By Legacies of American 

			  Revolution 

	 (D)	 More than one of the above

	 (E)	 None of the above

	 P-40.	 The Constituent Assembly of India 

preferred to work with the help of 

Committees mainly on which of the 

following matters ?

	 (A)	 On communal matters

	 (B)	 On substantive matters

	 (C)	 On procedural matters

	 (D)	 More than one of the above

	 (E)	 None of the above
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	P-36.	 ^maV Ho$ amOZr{VH$ Xbm| H$s gyMr – I H$mo CZHo$ 
ñWmnZm df© H$s gyMr – II go gw_o{bV H$s{O ò VWm 
gy{M`m| Ho$ ZrMo {X ò J ò Hy$Q> go ghr CÎma Mw{Z ò &

	 gyMr – I	 gyMr – II

	 (amOZr{VH$ Xbm| Ho$ Zm_)	 (CZH$s ñWmnZm Ho$ 	
		  df©)

	 a.	 A{Ib ^maVr`  	 1.	 1984 
V¥U_yb H$m§J«og

	 b.	 ~hþOZ g_mO nmQ>u	 2.	 1980

	 c.	 ^maVr` OZVm nmQ>u	 3.	 1964

	 d.	 ^maV H$m _mŠg©dmXr  	 4.	 1998 
gmå`dmXr Xb  
(gr.nr.AmB©.E_)

		  Hy$Q> :
				   a	 b	 c	 d
	 (A)			  4	 3	 2	 1

	 (B)			  1	 2	 3	 4

	 (C)			  4	 1	 2	 3

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	P-37.	 {ZåZ _| go {H$gZo {Q>ßnUr H$s Wr-{H$ ‘bmoH$V§Ì 

MoVZ Am¡a CnMoVZ _Z H$s EH$Vm h¡ ’ ?

	 (A)	 J¡{Q>b Zo

	 (B)	 hZ©em Zo

	 (C)	 hm°qH$J Zo

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	P-38.	 ‘ Ý`m` `wÕ ’ Ho$ ê$n _| kmV AmÝXmobZ H$m 
h[a`mUm _|, {ZåZ _| go {H$g ZoVm Ûmam ZoV¥Ëd 
{H$`m J`m Wm ?

	 (A)	 ^OZ bmb Ûmam

	 (B)	 Xodr bmb Ûmam

	 (C)	 ~§gr bmb Ûmam

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	P-39.	 amOm am_ _mohZ am`, {ZåZ _| go {H$g H«$mpÝV 
H$s {damgVm| go _w»`V: ~hþV à^m{dV Wo; Am¡a 
CÝhmoZo amîQ´> amÁ` Ho$ {Z_m©U hoVw H$m`© H$aZm ewê$ 
H$a {X`m Wm ?

	 (A)	 \«$mÝgrgr H«$mpÝV H$s {damgVm| go

	 (B)	 ê$gr H«$mpÝV H$s {damgVm| go

	 (C)	 A_o[aH$Z H«$mpÝV H$s {damgVm| go

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht

	P-40.	 ^maV H$s g§{dYmZ {Z_m©Ìr g^m Zo, {ZåZ _| go 

_w»`V:, {H$Z _m_bm| na g{_{V`m| H$s ghm`Vm go 

H$m ©̀ H$aZm ng§X {H$`m Wm ?

	 (A)	 gm_wXm{`H$ _m_bm| na

	 (B)	 _m¡{bH$ _m_bm| na

	 (C)	 à{H«$`mË_H$ _m_bm| na

	 (D)	 Cn`w©ŠV _| go EH$ go A{YH$

	 (E)	 Cn`w©ŠV _| go H$moB© Zht



11/MIV/M–2024–06/I	 84	

SPACE  FOR  ROUGH  WORK / aµ\$ H$m`© Ho$ {bE ñWmZ 
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SPACE  FOR  ROUGH  WORK / aµ\$ H$m`© Ho$ {bE ñWmZ 
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SPACE  FOR  ROUGH  WORK / aµ\$ H$m`© Ho$ {bE ñWmZ 
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SPACE  FOR  ROUGH  WORK / aµ\$ H$m`© Ho$ {bE ñWmZ 
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àíZ-nwpñVH$m

^mfm, gm_mÝ` AÜ``Z Am¡a gm_m{OH$ {dkmZ

g_` : 2:30 KÊQ>o	 nyUmªH$ : 150

àíZm| Ho$ CÎma XoZo go nhbo ZrMo {bIo AZwXoem| H$mo Ü`mZ go n‹T> b| &

_hÎdnyU© AZwXoe
	 1.	 Bg àíZ-nwpñVH$m _| ^mfm (Ah©Vm), gm_mÝ` AÜ``Z VWm gm_m{OH$ {dkmZ Ho$ àíZ h¢ & gm_m{OH$ {dkmZ _| B{Vhmg, ^yJmob, AW©emñÌ 

Ed§ amOZr{V-emñÌ {df` em{_b h¢ & gm_m{OH$ {dkmZ Ho$ Cº$ Mma {df`m| _| go {H$Ýht Xmo {df`m| H$mo MwZ|, {OZ_| go EH$ {df` B{Vhmg 
`m ^yJmob A{Zdm`© h¡ & 

	 2.	 ^mJ – I, ^mfm (Ah©Vm) _| àíZ g§»`m 1 go 30 VH$ àíZ h¢ & ^mJ – I _| A§Jo«Or ^mfm _| àíZ g§»`m E-1 go E-8 VH$ (g^r Ho$ {bE 
g_mZ), {hÝXr ^mfm _| àíZ g§»`m H-9 go H-30 VH$, CXÿ© ^mfm _| àíZ g§»`m U-9 go U-30 VH$ VWm ~m§½bm ^mfm _| àíZ g§»`m B-9 
go B-30 VH$ h¢ (Aä`Wu H$mo VrZ ^mfmAm| _| go {H$gr EH$ ^mfm Ho$ àíZ MwZZo h¢)& ^mJ – II _| àíZ g§»`m 31 go 70 VWm ^mJ – III, 
B{Vhmg _| àíZ g§»`m H-1 go H-40, ^mJ – III, ^yJmob _| àíZ g§»`m G-1 go G-40, ^mJ – III, AW©emñÌ _| àíZ g§»`m E-1 go 
E-40 Ed§ ^mJ – III, amOZr{V-emñÌ _| àíZ g§»`m P-1 go P-40 VH$ h¢ & ^mJ – II VWm ^mJ – III _| àíZ Am¡a CZHo$ CÎma A§J«oOr 
Ed§ {hÝXr _| _w{ÐV h¢ &

	 3.	 g^r àíZm| Ho$ A§H$ g_mZ h¢ &
	 4.	 àíZm| Ho$ CÎma XoZo Ho$ {bE AmnH$mo CÎma nÌH$ àíZ nwpñVH$m Ho$ AÝXa {X`m J`m h¡ & AnZo CÎma nÌH$ Ho$ {ZYm©[aV ñWmZ _| AnZm AZwH«$_m§H$ 

{bIo Ed§ Hy$Q>~Õ H$a| VWm AÝ` {ddaU Adí` {bI| AÝ`Wm AmnH$m CÎma nÌH$ Om±Mm Zht Om`oJm &
	 5.	 narjm Amaå^ hmoVo hr Amn AnZr àíZ-nwpñVH$m Ed§ g§b½Z CÎma nwpñVH$m H$s Om±M H$a XoI b| {H$ àíZ-nwpñVH$m Ho$ D$na Xm`t Amoa _w{ÐV 

ûm¥§Ibm Ed§ CÎma nwpñVH$m na _w{ÐV ûm¥§Ibm g_mZ h¡ & H¥$n`m `h ^r Om±M b| {H$ nwpñVH$m _| a\$ H$m`© hoVw Mma n¥îR>m| (n¥îR> g§. 84 go 87) g{hV 
nyao 88 _w{ÐV n¥îR> h¢ Am¡a H$moB© àíZ ̀ m n¥îR> {~Zm N>nm hþAm ̀ m \$Q>m hþAm ̀ m Xmo~mam Am`m hþAm ̀ m àíZ nwpñVH$m Ed§ CÎma nwpñVH$m _| _w{ÐV ûm¥§Ibm 
_| AÝVa Vmo Zht h¡ & nwpñVH$m Ed§ g§b½Z CÎma nwpñVH$m _| {H$gr àH$ma H$s Ìw{Q> nmZo na VËH$mb BgHo$ ~Xbo Bgr ûm¥§Ibm H$s Xÿgar ghr nwpñVH$m 
Ed§ Amo.E_.Ama. n{ÌH$m bo b| &

	 6.	 Bg n¥îR> Ho$ D$na {ZYm©[aV ñWmZ _| AnZm AZwH«$_m§H$ Adí` {bI| & àíZ-nwpñVH$m na Am¡a Hw$N> Z {bI| &
	 7.	 àË`oH$ àíZ Ho$ nm±M CÎma — (A), (B), (C), (D) Am¡a (E) H«$_ na {X`o J`o h¢ & CZ_| go Amn g~go ghr Ho$db EH$ CÎma H$mo MwZ| Am¡a 

AnZo CÎma nÌH$ na A§{H$V H$a| & AmnH$m Hw$b àmßVm§H$ AmnHo$ Ûmam CÎma nÌH$ _| A§{H$V ghr CÎmam| na {Z^©a H$aoJm &
	 8.	 CÎma nÌH$ _| àË`oH$ àíZ g§»`m Ho$ gm_Zo nm±M d¥Îm Bg àH$ma ~Zo hþE h¢ — A , B , C , D  Am¡a E  & àíZm| Ho$ CÎma XoZo Ho$ {bE 

AmnH$mo AnZr ngÝX Ho$ Ho$db EH$ d¥Îm H$mo H$mbr/Zrbr ñ`mhr Ho$ ~m°b-nm°BÝQ> noZ go {M{•V H$aZm h¡ & àË`oH$ àíZ Ho$ {bE Ho$db EH$ 
CÎma H$mo MwZ| Am¡a Cgo AnZo CÎma nÌH$ _| {M{•V H$a| & Amn CÎma nÌH$ _| `{X EH$ àíZ Ho$ {bE EH$ go A{YH$ d¥Îm _| {ZemZ bJmVo h¢, 
Vmo AmnH$m CÎma JbV _mZm Om`oJm & CÎma nÌH$ _| CÎma H$mo {M{•V H$aZo Ho$ {bE Ho$db H$mbr/Zrbr ñ`mhr Ho$ ~m°b-nm°BÝQ> noZ H$m hr à`moJ 
H$a| & {H$gr ^r àH$ma H$m H$mQ>-Hy$Q> AWdm n[adV©Z _mÝ` Zht h¡ &

	 9.	 `{X {H$gr àíZ _| {H$gr àH$ma H$s H$moB© _wÐU `m VÏ`mË_H$ àH$ma H$s Ìw{Q> hmo, Vmo àíZm| Ho$ A§J«oOr VWm {hÝXr ê$nmÝVam| _| go A§J«oOr ê$nmÝVa 
H$mo _mZH$ _mZm Om`oJm &

	 10.	 àíZ-nwpñVH$m go H$moB© nÞm \$m‹S>Zm `m AbJ H$aZm _Zm h¡ & àíZ-nwpñVH$m Am¡a CÎma nÌH$ H$mo narjm Ad{Y _| narjm ^dZ go ~mha H$Xm{n 
Z bo Om`| & narjm Ho$ g_mnZ na CÎma nÌH$ drjH$ H$mo Adí` gm¢n X| & CgHo$ ~mX AmnH$mo AnZr àíZ-nwpñVH$m AnZo gmW bo OmZo H$s 
AZw_{V h¡ &

	 11.	 D$na Ho$ AZwXoem| _| go {H$gr EH$ H$m ^r nmbZ Zht H$aZo na Amn na Am`moJ Ho$ {ddoH$mZwgma H$ma©dmB© H$s Om gH$Vr h¡ AWdm AmnH$mo 
XÊS> {X`m Om gH$Vm h¡ & 

	 12.	 Aä`Wu CÎma nÌH$ H$mo AnZr CnpñW{V _| Self Adhesive LDPE Bag _| nyar Vah go n¡H$/grb H$admZo Ho$ Cnam§V hr narjm H$j H$mo N>mo‹S>| &

 Note : English version of the instructions is printed on the First Page of this Booklet.
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